KENDRIYA VIDYALAYA SANGTHAN RAIPUR REDION

ACCOUNTANCY

SESSION 2022-23

CLASS 12

(A) Accounting for Partnership Firms

	(A) Accounting for Further ship Firms
(1)	In the absence of Partnership Deed, interest on capital will be allowed to partners @%.
(2)	Executor' of deceased partner's will be entitled to get share of profits (for the year of
	death) for the periods fromto
(3)	The capital balance of deceased partner (after making all adjustments) 1,20,000. Continuing
(3)	
	partners agree to make payments immediately in cash with the purpose to financially help to
	the family of deceased person. The amount will be debited toA/c
(4)	In case of dissolution of a firm, C's Loan Account (C is a partner) settled. Name the account
	which to be debited.
(5)	In the case of Partnership firms, third party liabilities are called:
	(a) Partners Capital A/c (b) Partner's Loan A/c (c) Bank Loan (d) All the above
(6)	In case of dissolution of a firm, intangible assets shown in the balance sheet will be
	transferred toAccount.
(7)	Executor of deceased partner's is entitled for the interest on the balance due amount @%.
	A and B are partners sharing profits and losses in the ratio of 3:2. C is admitted as a new
(-)	partner for 1/3 share in the firm and brought in cash for his share of capital ₹ 3,00,000. As
	per the terms of reconstitution for new admission, after adjustments made, the capitals of A
	and B are 3,20,000 and 2,80,000 respectively. If they also agree to adjust the capitals of
	A and B according to share of capital of C and his new share, the new share of capital of A will
	be .
(0)	
(9)	A and B are partners sharing profits and losses in the ratio of 3:2. C is admitted as a new
	partner for 1/3 shares in the firm and brought necessary cash for his share of capital. As per
	the terms of reconstitution for new admission, after adjustments made, the capitals of A and
	B are 3,20,000 and 2,80,000 respectively. C's share of capital is
(10) X, Y and Z were partners sharing profits & losses in the ratio of 3:2:1. On 29 th June, 2019, Z
	died. On this date, the balance of partners capital (after adjustments) were $\ ^{ au}$ 5,00,000; $\ ^{ au}$
	4,00,000 and 2,30,000 respectively. After settlement of deceased partners dues, X and Y
	decides to adjust their capitals as per new profits & loss sharing ratio. The new share of
	capital of X
	(a) 5,00,000 (b) 6,00,000 (c) 4,80,000 (d) 5,40,000.
(11) X, Y And Z were partners sharing profits & losses in the ratio of 3:2:1. On 29 th June, 2019, Z
	died. On this date, the balance of partners capital (After adjustments) were ₹5,00,000; ₹
	4,00,000 and 2,30,000 respectively. After settlement of deceased partners dues, X and Y
	decides to adjust their capitals as per new profits & loss sharing ratio 2:1. After
	reconstitution, the new share of capital of X
(12) X, Y And Z were partners sharing profits & losses in the ratio of 3:2:1. On 29 th June, 2019, Z
(12	died. On this date, the balance of partners capital (After adjustments) were ₹5,00,000;
	· · · · · · · · · · · · · · · · · · ·
	4,00,000 and 2,30,000 respectively. After settlement of deceased partners dues, X and Y
	decides to set total capitals of the firm at 12,00,000 and adjust their capitals as per new
	profits & loss sharing ratio. The new share of capital of X
(13) A, B and C are partners in a firm sharing profits & losses in equal proportion. On 1st April, 2019

they agree to share future profits & losses in the ratio of 4:3:3 ratios. After adjustments of
their capitals as per the terms of reconstitution, the balance of their capitals are 3,20,000;
2,80,000 and 3,00,000 respectively. They are agreeing to adjust their capitals as per the
profits and losses sharing ratio. The new capital proportion of A, B and C will be:
(a) 4,00,000 : 2,50,000 : 2,50,000 (b) 3,20,000 : 2,90,000 : 2,90,000
(c) 3,40,000 : 2,80,000 : 2,80,000 (d) 3,60,000 : 2,70,000 : 2,70,000
(14) A partner withdrew ${\mathbb T}$ 30,000 during an accounting year. The rate of interest on drawings
made by partners will be charged @ 10% p.a. The interest on drawings is $^{ extstyle au}$.
(15) A partner withdrew \mathbb{T} 2,000 at the beginning of every month for the periods of 9 months. The
interest on drawings will be charged for the periods ofmonths.
(16) A partner withdrew $\frac{\pi}{3}$ 3,000 at the end of every month in an accounting year. The interest on
drawings will be charged for the periods ofmonths.
(17) A partner withdrew ₹ 5,000 at the end of each quarter during the year. The interest on
drawings will be charged for the periods of months.
(18) A partner withdrew ₹ 10,000 at the middle of each quarter during the year. The interest on
drawings will be charged for the periods of months.
(19) A partner withdrew $\sqrt{4}$,000 at the beginning of each quarter during the year. The interest on
drawings @ 10% p.a. will be \(\frac{\pi}{2}\)
(20) P, Q and R are partners in a firm, sharing profits & losses in 5:3:2 ratios. They agree to admit
<u>.</u>
S as new partner for $\frac{1}{4}$ share in a firm. The balance sheet of P, Q and R showed a balance of
'Profit and Loss Suspense Account' ₹ 60,000. Pass necessary Journal entry.
(21) P, Q and R are partners in a firm, sharing profits & losses in 5:3:2 ratios. They agree to admit
S as new partner for $\frac{1}{4}$ share in a firm. The balance sheet of P, Q and R showed a balance of
'Goodwill' ₹20,000. Pass necessary Journal entry.
(22) P, Q and R are partners in a firm, sharing profits & losses in 5:3:2 ratios. They agree to admit
S as new partner for $\frac{1}{4}$ share in a firm. The balance sheet of P, Q and R showed a balance of
'Workmen's Compensation Reserve' ₹ 60,000. Pass necessary Journal entry.
(23) P, Q and R are partners in a firm, sharing profits & losses in 5:3:2 ratios. They agree to admit
S as new partner for $\frac{1}{4}$ share in a firm. The balance sheet of P, Q and R showed a balance of
'Workmen's Compensation Reserve' ₹ 60,000. There is a claim for workmen's compensation of
₹ 40,000. Pass necessary Journal entry.
(24) P, Q and R are partners in a firm sharing profits & losses in the ratio of 5:3:2. On 1 st April,
2019, they agree to share future profits & losses in the ratio of 3:2:1 and on the same date,
the Balance Sheet is showing Investment at \$\frac{1}{3},00,000 and Investment Fluctuation Reserve at
₹ 30,000. Investment valued 2,₹0,000. Pass necessary Journal entry.
(25) X and Y are partners in a firm sharing profits in the ratio of 7:3. Z is admitted as partner for
3/10 th share which he takes from X and Y in ratio 2:1. The new profit sharing ratio between X,
Y and Z will be
(26) A and B are partners in a firm sharing profits in the ratio of 3:2. C admitted as partner for
1/3 share. A, B and C are agree to share future profit and loss in equal proportion. The
sacrificing ratio between A and B is:
(a) 1:1 (b) 3:2 (c) 4:1 (d) 2:3
(27) X, Y and Z were partners in a firm sharing profit in the ratio of 3:2:1. Z decides to retire
from the firm due to medical problem. X and Y agree to share future profit in 2:1. The gaining
ratio between X and Y is:
(a) 3:2 (b) 2:1 (c) 1:1 (d) None of the above
(28) What is the purpose to prepare 'Revaluation Account' on reconstitution of a partnership?
(29) Pankaj and Rohit are partners in a firm sharing profit in the ratio of 2:1. Gopal, a incoming

partner brought in his share of premium for goodwill in cash ₹ 30,000. Make necessary Journal

entry for the same.			
partner brought in his entry for the same to	share of premium adjust with the co	for goodwill in cas apital accounts of F	· ·
partner for 1/3 share	in firm and broug	ght in share of cap	ne ratio of 2:1. Gopal admitted as a ital in cask 3,00,000. The balance nulated profit/loss, gain/loss on
revaluation) 3,20,00 brought in his share of			r the terms of Deed, Gopal will be
(32) Pankaj and Rohit are	partners in a firm	sharing profit in th	ne ratio of 3:2. They agree to share
future profit in the ra	tio of 2:1. Goodwil	l valued at ₹60,00	00. Pass necessary Journal entry.
(33) Pankaj, Rohit and Gop retires from firm. Goo	•	• .	ofit in the ratio of 3:2:1. Pankaj ssary Journal entry.
(34) Pankaj, Rohit and Go	pal were partners	in a firm sharing p	rofit in the ratio of 3:2:1. Pankaj
retires from firm. Goo	dwill valued at ₹1	,20,000. Rohit and	Gopal agree to share future profit
in the ratio of 3:2. Pas			
(35) If the deceased part	ner's executor is i	not paid full amount	t/partial amount due to him/her
immediately on death,	his/her balance is	transferred to his	/herA/c.
			to him immediately on retirement,
his balance is transfer	•	•	•
			:2:1. Firm closes its accounts on 31st
•		- '	in the firm till his death was to be
computed on the basis	of last year's pro	fit which was ₹1,5	0,000. B's share in profits will be:
(a) ₹ 30,000	• •	• •	(d) ₹ 15,000
(38) In the absence of pa	rtnership deed, de	eficiency arising on	guaranteed share is met by other
partners in which ratio	9		
			ainst profit'. (True / False)
•	interest. The net	profit will be dist	he partners, but the net profit was ributed between partners in the
(41) As per the Companies	Act-2013, the mo	iximum number of p	partners in a firm is 20. (True/False)
(42) Profit & Loss Approp(43) Under Fixed Capital	riation Account is method, the capito	an extension of Pro al accounts of partr	ofit & Loss Account. (True/False) ners will changes with every change
in the claim / charge w	• •	•	•
(44) Under fluctuate capit		•	<u> </u>
	•		ts appears in the balance sheet and
_	•		s will bein revaluation A/c.
			time of dissolution of firm is
transferred to credit			16 6 10 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
		paid by firm on ber	nalf of Vijay (a partner) will be
debited to			
			h dissolution process by Deepak (a
•	•	•	,000. Pass necessary Journal entry.
	•		Sanjay, for which ₹ 50,000 were
•		•	solution work. Actual realization
expenses incurred at			• ———
			ne of dissolution, one of the
		ent in full settleme	nt of his debt. How much amount will
be payable to creditor			
(a) 18,000	(b) 20,000	(c) 2,000	(d) None of the above

			ime of dissolution, one of the
creditors of 22,0	00 took this investmen	nt in full settlen	nent of his debt. How much amount
will be payable to cr	reditor?		
(a) 18,000	(b) 20,000	(c) 2,000	(d) None of the above
(52) Stock of ₹ 20,000	was not shown in the	books. At the t	ime of dissolution, one of the
			How much amount will be payable to
creditor?.		·	. ,
(a) 18,000	(b) 20,000	(c) 2,000	(d) None of the above
• • •	• •	* * .	ime of dissolution, one of the
			Pass necessary Journal entry.
			sheet will be transferred to
side of the	• • •	9	
(55) On dissolution of t		led first:	
			ank Loan (d) a and c
			took over by Anand (a partner) will be
credited to			(ap,
		book value ₹ 60	0,000 appearing in the balance sheet.
			tner) at 20% less and remaining was
	₹ 9,000. Pass necesso	• •	•
		•	which was written off as bad debts
earlier, pass necess			
(59) Change in the exis	•	en the partners	is termed as
		•	liscount of 20%. Realization Account
will be debited by ₹		,	
•		3000 from a	debtor which was written off as
	ass necessary Journal		
(62) State the main aim	•	•	
	_		accounts of a Not-for-Profit
Organisation?		3	
(64) Under which of the	following circumstance	es', the balance	of 'Fixed Capital Accounts' will
changes?	•		·
(i) Additional ca	pital is introduced	(ii) Interest	t on capital is provided
(iii) Interest on	Drawings is charged	(iv) Excess	capital is withdrew
Choose the corr	ect option from the fo	ollowing:	·
(a) Option: i, ii, i	ii and iv (b) Option	: ii and iii (c) O	Option: i and iv (d) None of above
· ·	•		of a partner isallowed.
(66) Akash and Bhumija	are partners in a firm	. Bhumija is ent	itled to get a commission of 25% on
net profit after cha	arging such commissior	n. Net profit be	fore charging such commission is
60,000. Bhumija's c	ommission will be ₹	·	
(67) If all are partners	agree, a minor may be	admitted in to t	the partnership. (True/False)
(68) Name the method	of calculating interest	on drawings of	the partners if they made drawings in
different amounts	on different dates.	_	
(69) Goodwill of the fire	m valued at ₹ 30,000,	on the basis of	2 years' purchase of average profit of
	e average profit of the		<u> </u>
(70) Capital employed in	n a firm is ₹3,00,000.	Average profit	is ₹ 35,000. The normal rate of
			ourchase. Valued goodwill is 🔻
<u>.</u> .	-	•	- -
(71) Goodwill is a fictiti	ous asset. (True / Fals	e)	
(72) How does the factor	or 'efficiency of manag	gement' affect t	the goodwill of a firm?

(73) When new partner does not bring his share of goodwill in cash, the amount is debited to:

(c) Curren	nt A/c of new partner	(d) None of th	e above		
(74) At the time (of reconstitution of a po	artnership, ther	e is some unrec	orded liabilities are fo	und.
It will be sho	wn:				
(i) Debited to	Revaluation A/c (ii) Cre	edited to Revalu	ation A/c (iii)Re	econstituted Balance S	heet
Choose th	e correct option from t	he following:			
(a) Optior	ı: (i) (b) Option: ((c) Opt	ion: (iii) (d) Option: (i) and (iii)	
(75) New partner	's share of goodwill tak	en by old partnei	rs in	Ratio.	
(76) State the pu	irpose for treatment of	goodwill on adm	ission of a part	ner.	
(77) A and B are 1	partners in a firm shari	ng profit in the r	atio of 3:2. Th	ey admitted C as a par	tner
for ½ share w	rith a minimum guarante	e of profits 10	0,000. At the c	close of the financial ye	ear,
the firm earn	ed a profit of 60,000). C's share of pr	ofit will be ₹_		
(78) Under whi	ich circumstance will th	e premium for go	odwill paid by	the incoming partner no	ot be
recorded in t	he books of accounts?				
(79) At the tim	ne of admission of a par	tner, need to cal	culate sacrific	ing share/ratio betwee	n old
partners unde	er the condition of				
(80) Different	iate between dissolutio	n of partnership	and dissolution	of partnership firm.	
(81) X, Y Z wer	re partners in a firm sh	aring profits & lo	osses in the rat	io of 3:2:1. Their book	s are
	rch 31 st , every year.				
	from the firm on Septe	mber 30 th , 2019	. The claims of	Z to be settled on the	
following :					
	valued at 1,20,000.		_		
	is gain on revaluation of		ties₹12,000.		
	e of capital i.e. 6,00,0				
	are of profit up to his			sis of previous year pro	ofits
	rofit of the previous yea				
	payable to Z was transf				
	ssary Journal entries ar		•	(4)	
	an and Shyam are partn		• .		
,	pitals as on 1 st April, 20		₹ 1,80,000 and	l ₹1,20,000 respectivel	у.
•	Deed provides the follow	_			
	on capital allowed @ 10%	•			
	on drawings will be char	-		terests on drawings ar	e -
	000; Mohan: 3,000 an	•	00.		
•	owed salary of 5,000	•		1 11 11 1	
(d) Shaym als ₹60,000.	o has guarantee of prof	rits that in any y	ear his profits	should not be less than	1 10
Profit of the	firm for the year endin	g 31 st March, 20	19 ₹ 2,40,000	(after charging salary	to
Shyam but be	efore adjustments of in	- terest on capita	l and interest o	on drawings).	
Prepare Profi	t and Loss Appropriatio	n Account and po	ass necessary J	Fournal entry for guara	ntee
of profit to S	• • • •	·	·	· -	
(83) X, Y Z are	partners in a firm, the	y have fixed cap	itals as on 1 st A	pril, 2018 were ₹5 lal	khs;
₹3 lakhs and	₹2 lakhs respectively.	The profits of t	he firm for th	e year 2018-19 ₹ 3,00,	,000
was distribut	ed in their capital propo	ortion, thereafte	er, it comes to l	know that the following	ı

(c) They made drawings in the year 2018-19 as $\sqrt[7]{50,000}$; $\sqrt[7]{30,000}$ and $\sqrt[7]{20,000}$ respectively.

(4)

(b) Goodwill A/c

Interest on drawings will be charged @ 20% p.a. (d) Their profit and loss sharing ratio is 3:2:1.

terms of Partnership Deed are being ignored:

(a) They allowed interest on capital @ 10% p.a.

(b) Z allowed Salary @ 5,000 p.m.

(a) Premium A/c

You are required to make necessary Journal Entry to adjustment the above discrepancy.

- (84) In case of dissolution, pass Journal entries for the following circumstances: (any four) (4)
 - (a) Realization expenses incurred for 12,000.
 - (b) Realization expense of 15,000 paid by partner Mohan.
 - (c) Realization expense of 18,000 paid by firm on behalf of partner Vijay.
 - (d) All partners agreed that the dissolution works be accomplished by Ajay (a partner) and expenses thereon may be occurred at 10,000.
 - (e) Firm paid 6,000 on behalf of Ajay (a partner) for which 10,000 were credited to Ajay's capital account. Actual realization expenses incurred at 16,000.
 - (85) In case of dissolution, pass Journal entries for the following circumstances: (any four) (4)
 - (a) Furniture of 90,000 was sold for 80,000 by auction and auctioneer's commission amounted to 5,000.
 - (b) A partner, Deeraj's Loan A/c of 25,000 was paid.
 - (c) A bill receivable of 6,000 under discount was dishonoured as the acceptor had become insolvent and hence the bill had to be met by the firm.
 - (d) Out of the Stock of 1,20,000; Kiran (a partner) took over 1/3 of the stock at a discount of 25% and 50% of remaining stock was took over by a Creditor of 30,000 in full settlement of his claim. Balance amount of stock realized at 25,000.
 - (e) A creditor of 25,000 took over an unrecorded asset (valued at 45,000) at ₹ 30,000.
 - (86) Satyam and Shivam were partners in a firm sharing profits and losses in the ratio of 3:2. On 31st March, 2019 they decides to dissolve the firm. On that date, they furnished the following balance of their firm:

Creditors: 45,000 and Debtors: 60,000; Workmen's Compensation Fund: 40,000; Satyam's Current A/c (Cr.): 65,000 and Shivam Current A/c (Dr.): 20,000; Stock: $\frac{1}{2}$ 85,000; Furniture: 1,00,000; Machinery: 1,30,000. The balance of Capitals- Satyam: $\frac{1}{2}$ 2,00,000 & Shivam: 1,00,000.

Additional Information:

- (a) Satyam took over 25,000 of the stock at 20,000 for cash and remaining stock was sold for 55,000. Furniture realized at 80,000.
- (b) An unrecorded Investment was sold for ₹20,000. Machinery was sold at a ₹1,00,000.
- (c) Debtors realized at ₹55,000. There was an outstanding bill for legal charges of £5,000 which were paid.

You are required to prepare Realization Account, Partners Capital Account and Bank Account from the above information.

- (87) In case of dissolution of a firm, pass necessary Journal entries for the following: (6)
 - (a) An outstanding bill for repairs and renewal $\frac{\pi}{3}$ 3,000. There was a balance of Employees Provident Fund of $\frac{\pi}{25}$,000 and a contingent liability for $\frac{\pi}{3}$ 2,000.
 - (b) Akash a partner agrees to pay off his wife loan ₹ 10,000.
 - (c) General Reserve of \mathbb{T} 12,000; Profit & Loss Account (Cr.) of \mathbb{T} 9,000 given on the liabilities side of balance sheet. There were three partners A, B and C sharing profits in 3:2:1 ratio.
 - (d) Profit & Loss Suspense Account of \mathfrak{T} 1,000; Profit & Loss Account (Dr.) of \mathfrak{T} 9,000 given on the assets side of balance sheet. There were two partners X and Y, sharing profit in 2:3 ratios.
 - (e) Chetan, a partner has Current Account (Dr.) of $^{\frac{\pi}{4}}$ 6,000 and Ravi, a partner has Current Account (Cr.) of $^{\frac{\pi}{4}}$ 4,000.

Vikrant, a partner has his Loan Account on the assets side of balance sheet for 9,000.

(88) Sonia, Rohit and Udit were partners in a firm sharing profit & loss in the ratio of 5:3:2. On 31st March, 2019 their firm was dissolved. As on that date, the firm's balance sheet as under:

Balance Sheet (As on March 31st 2019)

Balance Sheet (7.5 on March 5	1 2015)		
Liabilities	(₹)	Assets	(₹)

Creditors	30,000	Buildings	1,40,000
Bills Payable	30,000	Machinery	40,000
Bank Loan	1,20,000	Stock	1,60,000
Sonia's Husband's Loan	1,30,000	Bills Receivable	1,20,000
Investment Fluctuation Fund	2,000	Furniture	80,000
Workmen Compensation Fund	15,000	Debtors	40,000
Bank Overdraft	5,000	Goodwill	15,000
Provision for doubtful debts	4,000	Investments	20,000
Rohit's Loan	20,000	Udit's Current A/c	10,000
General Reserve	80,000	Cash at Bank	60,000
Profit & Loss A/c	5,000		
Sonia's Current A/c	10,000		
Capitals:	2,34,000		
Sonia 60,000			
Rohit 80,000			
Udit <u>94,000</u>			
	6,81,000		6,81,000

The firm was dissolved on that date. Close the books of the firm with following information:

- (a) Buildings realized for ₹1,30,000; Machinery sold at ₹48,000 and Furniture for ₹75,000.
- (b) Bank Loan was settled for ₹1,30,000 and Bills Payable were settled at 10% discount.
- (c) Rohit paid realization expenses of \mathbb{T} 10,000 and he was to get a remuneration of \mathbb{T} 12,000 for completing the dissolution process.
- (d) There was an unrecorded asset of ₹2000, which was taken over by Rohit at ₹1,500.
- (e) There was an unrecorded typewriter which was sold for ₹ 3,000.
- (f) Udit took over 25% of the stock at 10% less on its book value, and the remaining stock was sold at a gain of 10%.
- (g) There was an outstanding bill for repairs which had to be paid for \mathbb{T} 2,000.
- (h) Debtors realized for \P 32,000 and \P 1,000 were recovered for bad debts written-off last year.
- (i) Sonia promised to pay Sonia's Husband's Loan and took away Bills Receivable for ₹ 1,10,000.
- (j) Rohit took away half of the Investment at 10% less and remaining Investments were sold at ₹ 9.000. Goodwill realized at ₹ 12.000.
- (k) It is found that an asset not recorded in the books amounted to ₹1,000. The same were accepted by one creditor for this amount and other creditors were paid at 10% discount.

<u>NOTE</u>: The above question on dissolution of a firm is too lengthy. This lengthof question will not be asked in CBSE BUT it contains all the possible items of Balance Sheet as well as adjustments points which help to develop broad and complete understanding to prepare necessary ledgers.

NOW, the next page is demonstrating that how to response with the items of Balance Sheet on the dissolution of a firm:

Balance Sheet (As on March 31st 2016)5:3:2

Liabilities	(z)	Assets	(2)
- Creditors	30,000	Buildings	1,40,000
Bills Payable	30,000	Machinery	40,000
Bank Loan	1,20,000	Stock	1,60,000
Sonia's Husband's Loan	1,30,000	Bills Receivable	1,20,000
Investment Fluctuation Fund	2,000	Furniture	80,000
Workmen Compensation Fund	15,000	Debtors	40,000
Bank Overdraft	5,000	Goodwill	15,000
Provision for doubtful debts	4,000	Investments	20,000
Rohit's Loan	20,000	Udit's Cuprent A/c	10,000
General Reserve	80,006	Cash at Bank	60,000
Profit & Loss A/c	5,000		
Sonia's Current A/c	10,000		
Capitals:	2,34,000		
Sonia 60,000			
Rohit 80,000			
Udit 94,000			
\	6,81,000		6,81,000

Realization Account

Particulars	(²)	Particulars	(z)
Buildings	1,40,000	Creditors	30,000
Machinery	40,900	Bills Payable	30,000
Stock	1,60,000	Bank Loan	1,20,000
Bills Receivable	1,20,000	Sonia's Husband's Loan	1,30,000
Furniture	/80,000	Investment Fluctuation Fund	2,000
Debtors /	40,000	Workmen Compensation Fund	15,000
Goodwill /	15,000	Bank Overdraft	5,000
Investments	20,000	Provision for doubtful debts	4,000

Capital Account

Particulars	Sonia	Rohit	Udit	Particulars	Sonia	Rohit	Udit
Current A/c	/		10,000	Balance b/d	60,000	80,000	94,000
				General Reserve	40,000	24,000	16,000
				Profit & Loss AXC	2,500	1,500	1,000
				Current A/c	10,000		

^{**} Bank Account will be opened with ₹ 60,000.

^{₹ 20,000.}

Assets Realized (1)		Asset Taken Over by a Partner	
Buildings, Machinery & Furniture	2,53,000	Rohit U/R	1,500
U/R Typewriter	3,000		
		Rohit (1/2 Investment less 10%)	9,000
Stock (1,20,000 + 10%)	1,32,000		
		Udit (stock)	36,000
Debtors (including B/d)	33,000		
		(25% of 1,60,000 at 10% less)	

^{**} Rohit's Loan Account will be opened with

Investment	9,000	Sonia (B/R)	1,10,000	
Goodwill	12,000			

Bank A/C Dr.	4,42,000	Capitals A/c Dr.	1,56,500
To Realization A/c		To Realization A/c	
External Liabilities Paid (2)		A Partner agree to pay Liability	2
Bank Loan& Bills Payable	1,57,000	Rohit (Realization Expense)	12,000
O/S Bill for Repairs	2,000	Sonia (Husband Loan)	1,30,000
Creditors (30,000-1,000)less10%	26,100		
Bank Overdraft	5,000		
Realization A/C Dr.	1,90,100	Realization A/c Dr.	1,42,000
To Bank A/c		To Capitals A/c	

Realization Account

Particulars	(₹)	Particulars	(\$)		
To Buildings	1,40,000	By Creditors	30,000		
To Machinery	40,000	,000 By Bills Payable			
To Stock	1,60,000	By Bank Loan	1,20,000		
To Bills Receivable	1,20,000	By Sonia's Husband's Loan	1,30,000		
To Furniture	80,000	By Investment Fluctuation Fund	2,000		
To Debtors	40,000	By Workmen Compensation Fund	15,000		
To Goodwill	15,000	By Bank Overdraft	5,000		
To Investments	20,000	By Provision for doubtful debts	4,000		
To <u>Bank A/c(2)</u>	1,90,100	By <u>Bank A/c(1)</u>	4,42,000		
To Rohit's Capital A/c	12,000	By Rohit's Capital A/c	10,500		
To Sonia's Capital A/c	1,30,000	Unrecorded asset 1,500			
		$\frac{1}{2}$ Investment 9,000			
		By <u>Udit's Capital A/c</u>			
		25% stock	36,000		
			By <u>Sonia's Capital A/c</u>	1,10,000	
		B/R			
		By <u>Capitals A/c</u> (5:3:2)	12,600		
		Sonia 6,300			
		Rohit 3,780			
		Udit <u>2,520</u>			
	9,47,100		9,34,500		

Capital Account

Particulars	Sonia	Rohit	Udit	Particulars	Sonia	Rohit	Udit
Current A/c			10,000	Balance b/d	60,000	80,000	94,000
RealizationA/c	1,10,000	10,500	36,000	General Reserve	40,000	24,000	16,000
RealizationA/c	6,300	3,780	2,520	Profit & LossA/c	2,500	1,500	1,000
(Loss on Real.)				Current A/c	10,000		
Bank A/c	1,26,200	1,03,220	62,480	Realization A/c	1,30,000	12,000	
	2,42,500	1,17,500	1,11,000		2,42,500	1,17,500	1,11,000

Bank Account

	Ŧ		Ŧ
Particulars	(,)	Particulars	(,)
To Balance b/d	60,000	By Realization A/c	1,90,100
To Realization A/c	4,42,000 By Rohit's Loan A		20,000
		By Capitals A/c	2,91,900
	5,02,000		5,02,000

(89) A, B and C were partners in a firm sharing profits in 2:2:1 ratio. On31.3.2016 B retired from the firm. On the date of B's retirement the Balance Sheet of the firm was as follows:

Liabilities	Amt. in ₹	Assets	Amt. in ₹
Creditors	54,000	54,000 Bank	
Bills Payable	24,000	Debtors 12,000	11,200
O/S Rent	4,400	Less: Prov. For D/D 800	
Prov. For Legal Claim	12,000	Stock	18,000
Capitals:	1,92,000	Furniture	8,000
A 92,000		Premises	1,94,000
B 60,000		B's Loan A/c	5,000
C 40,000			
	2,86,400		2,86,400

On B's retirement it was agreed that:

- (i) Premises will be appreciated by 5% and Stock will be depreciated by 10%.
- (ii) A has taken furniture at ₹ 10,000.
- (iii) Provision for bad debts was to be made at 5% on debtors and provision for legal claim to be made for $^{\frac{7}{14}}$,400.
- (iv) Goodwill of the firm was valued at ₹ 48,000.
- (v) $^{7}50,000$ from B's Capital Account will be transferred to his loan account and the balance will be paid by cheque.

Prepare B's Capital Account.

SOL.

B's Capital Account

Particulars	Amt. in ₹	Particulars	Amt. in ₹
To B's Loan A/c	5,000	By Balance b/d	60,000
To Bank A/c	32,280	By Revaluation A/c	3,080
To B's Loan A/c	50,000	By A's Capital A/c	12,800
(Bal. figure)		By C's Capital A/c	6,400
	82,280		82,280

Workings: (1)

Revaluation (to find gain/loss on revaluation)

Stock	1,800	Premises	9,700
Prov. for Legal Claim	2,400	Furniture	2,000
Capitals A/c	7,700	Prov. for D/D	200
A 3,080			
B 3,080			
C 1,540			

Working: (2) B's Share in Goodwill adjusted with A's & C's Capital A/cB's share of goodwill = 2/5 of valued goodwill 48,000 = 19,200

19,200 will be debited to capitals A/c of A and C in their gaining share i.e. 2:1 A's Capital A/c will be debited with 2/3 of 19,200 = 12,800 & C's Capital by 6,400.

- (90) A, B and C were partners in a firm sharing profits in 2:2:1 ratio.
 - On 30th June **2016** B died. As per the deed on the death of a partner, account of deceased partner is to be settled as:
 - (i) Premises will be appreciated by 5%, Stock will be depreciated by 10% and A has taken furniture at $^{\text{T}}$ 10,000 for cash.
 - (ii) Goodwill of the firm was valued at ₹48,000.
 - (iii) Interest on capital allowed @ 10% p.a.
 - (iv) B's share of profit from the last balance sheet date to date of death is calculated on the basis of average profits of last three years, which were 590,000 .
 - (v) Paid $^{\text{T}}$ 39,160 immediately to the family of B and balance will be paid in two equal annual installments together with 10% interest p.a.

On 31.3.2016 the Balance Sheet of the firm was as follows:

of the building effect of the first was as follows:						
Liabilities	Amt. in ₹	Assets	Amt. in [₹]			
Creditors	54,000	Bank	55,200			
Bills Payable	24,000	Debtors 12,000	11,200			
O/S Rent	4,400	Less: Prov. For D/D 800				
WCF	12,000	Stock	18,000			
Capitals:	1,92,000	Furniture	8,000			
A 92,000		Premises	1,94,000			
В 60,000						
<i>C</i> 40,000						
	2,86,400		2,86,400			

Prepare B's Capital Account to be rendered to his Executor's Account.

SOL.: B's Capital Account

Particulars	Amt. in ₹	Particulars	Amt. in ₹
To Z's Executors A/c	98,460	By Balance b/d	60,000
		By WCF	4,800
		By Revaluation A/c	3,960
		By A's Capital A/c	12,800
		By C's Capital A/c	6,400
		By P/L Suspense A/c	9,000
		By Interest on Capital	1,500
	98,460		98,460

Workings: (1) <u>Gain/Loss on Revaluation</u>

Depreciate Stock by 1,800 Appreciate Premises by 9,700 Capitals A/c (share in gain) 9,900 Appreciate Furniture by 2,000

A: 3,960; B: 3,960; C: 1,980

Working: (2) B's Share in GoodwillAdjusted with A's & C's Capital A/c
B's share of goodwill = 2/5 of valued goodwill 48,000 = 19,20019,200 will be debited to capitals A/c of A and C in their gaining share i.e. 2:1
A's Capital A/c will be debited with 2/3 of 19,200 = 12,800 & C's Capital by 6,400.

Working: (3) Share of profit of Deceased partner-B (Profit & Loss Suspense A/c)

Share of Profit = Average Profits X Share of B X Periods (from 31.03.2016 to 30.06.2016)

= 90,000 X 2/5 X 3 months = 36,000 X 3/12 = 9,000

(91) A & B were partners sharing profits in 3:2. The Balance Sheet as on 31st March,2019 as under:

Liabilities	₹	Assets	₹
Provision for doubtful debts	1500	Debtors	15000
Employees' Provident Fund	10500	Goodwill	5000
General Reserve / P & L A/c	6000	Advertisement Expenditure	3000
Workmen's Compensation Fund	10000	Profit & Loss Suspense A/c	2000
Investment Fluctuation Fund	5000	Patents	2000
Creditors	30000	Stock	26000
Capital A/c of A -	50000	Buildings	60000
Capital A/c of B -	30000	Machinery	30000
Bank Loan	10000	Cash	10000
	153000		153000

C is admitted into the partnership for $1/5^{th}$ share in the profits & losses. C is to bring in $\sqrt[3]{30000}$ as his capital subject to the following terms:

- (i) Goodwill of the firm valued at ₹ 50000.
- (ii) Patents to be value less.
- (iii) There was a claim against the firm for damages amounting to ₹ 2000. The claim has now been accepted.
- (iv) Stock is overvalued by ₹ 1000.
- (v) A liability of Workmen's Compensation Reserve is determined to ₹4000.
- (vi) Outstanding Rent amounted to ₹ 1000.
- (vii) Prepaid Salaries ₹ 500.
- (viii) A liability for Rs 2000 included in sundry creditors was not likely to arise / claim.
- (ix) Debtors are all good.
- (x) Bank Loan is paid off.
- (xi) Buildings are appreciated by $\frac{\pi}{5}$ 5000 (appreciated to $\frac{\pi}{5}$ 65000).
- (xii) Machinery is depreciated to ₹26000 (depreciated by ₹4000).

Prepare the Revaluation Account, Partners' Capital Accounts and Balance Sheet after admission of \mathcal{C} into the partnership.

Important Notes:

[Above problem is also too lengthy and the same length of question will not be asked in CBSEBUT it help to develop comprehensive understanding]

- * Employees' Provident Fund The provident fund is an outside liability and therefore it will not be adjusted. (It may be increased or reduced on payment by cash, if, there is given in the term).
- * General Reserve / P & L A/c Generally, This will be distributed among the old partners' in their old profit-sharing ratio.
- * Workmen's Compensation Fund Generally, this will be distributed among the old partners' in their old profit-sharing ratio.

(If, there is given terms as liability arise on it, than up to the liability/claim 'Fund' should be retained & will be shown in the Balance Sheet and remains will be distributed in old partners.)

- * Investment Fluctuation Fund Treatment will made same as above.
- * Goodwill Any amount of goodwill shown in the Balance Sheet, shall be written-off with the old partners' capital A/c in their old ratio.
- * Advertisement Expenditure -Such head will be written-off with the partners' capital A/cs.
- * Profit & Loss Suspense A/c All the Such head will be written-off with partners' capital A/cs.
- * Provision for doubtful debts & Debtors -
- # Debtors are all good: It is a gain on debtors as earlier amount provided for doubtful debtors against (by charging) the Profit & Loss A/c, thus, up to the amount of Provision for Doubtful Debts will be treated as gain on revaluation and Debtors will shown with full (book) value in the Balance Sheet. (If, there is given other terms for its treatment than accordingly will be done)
- * Bank Loan Bank Loan paid off therefore, in the Balance Sheet no such head will be shown & the amount of cash will be reduced by this head.
- * Claim for damages This is an unrecorded liability, due to arise; it should be taken in to account. It is loss on revaluation as well as will be shown on the Liability side of Balance sheet.
- * Stock Stock overvalued, thus, it should be adjusted by reduced to original value and will be treated loss on revaluation \mathbb{T} 1000.
- * Patents This is the loss on revaluation by all its book value i.e., ₹ 2000.
- * Creditors Claims are reduced, thus, it is a gain on revaluation by ₹ 2000.

* Treatment of Goodwill -

It can be made by opening of C's Current A/c or through the C's Capital A/c. BUT -----

When there is need to adjust the capital of old partners OR need to ascertain the capital of new partner, than goodwill treatment (if new partner unable to bring his/her share of goodwill in cash) should be made by new partner's Current A/c.

Solution:

Revaluation Account

Particulars	₹	₹ Particulars	
To Patents	2000	By Prov. for doubtful debts	1500
To Stock	1000	By Creditors	2000
To Machinery	4000	4000 By Buildings 2000 By Prepaid Salaries	
To Claim for Damages	2000		
To O/s Rent	1000	By A's Capital A/c - 600	1000
		By B's Capital A/c - 400	
	10000		10000

Capital Account

Particular <i>s</i>	A (₹)	B (₫)	C (₹)	Particulars	A (₹)	B (₫)	C (3)

To Goodwill	3000	2000		By Balance b/d	50000	30000	
To Adv. Exp	1800	1200		By Gen. Reserve	3600	2400	
To P&L Sup. A/c	1200	800		By WC Fund	3600	2400	
To Reval. A/c	600	400		By Inv.Flu.Fund	3000	2000	
To Balance C/d	59600	36400	30000	By Cash			30000
				By C's CurrentA/c	6000	4000	
	66200	40800	30000		66200	40800	30000

Balance Sheet (After admission of C)

Liabilities	₹	Assets	₹
Employees' Provident Fund	10500	Debtors	15000
Workmen Comp. Fund	4000	Buildings	65000
Prov. For Claim for Damages	2000	Machinery	26000
Outstanding Rent	1000	Stock	25000
Creditors	28000	Prepaid Salaries	500
Capitals Account:	126000	Cash (10000+30000-10000)	30000
A - 59600		C's Current A/c	10000
B - 36400			
C - 30000			
	171500		171500

(92) A, B & C, partners sharing profits in 3:2:1. Their Balance Sheet on 31.03.2019 as under:

Liabilities	₹	Assets	₹
Provision for doubtful debts	1,500	Debtors	15,000
Employees' Provident Fund	10,500	Goodwill	6,000
General Reserve / P & L A/c	6,000	Advertisement Expenditure	3,000
Workmen's Compensation Fund	10,000	Profit & Loss Suspense A/c	3,000
Investment Fluctuation Fund	3,000	Patents	2,000
Creditors	30,000	Stock	26,000
Capital A/c of A -	40,000	Buildings	60,000
Capital A/c of B -	25,000	Machinery	30,000
Capital A/c of C -	15,000	Cash	8,000
Bank Loan	12,000		
	1,53,000		1,53,000

C is retires from the firm on 1st April, 2019 on the basis of the following terms:

- (a) Goodwill of the firm valued at ₹60,000.
- (b) Patents to be value less.
- (c) There was a claim against the firm for damages amounting to ₹2,000. The claim has now been accepted.
- (d) Stock is overvalued by ₹1,000.
- (e) A liability of Workmen's Compensation Reserve is determined to ₹4,000.
- (f) Outstanding Rent amounted to ₹ 1,000.
- (g) Prepaid Salaries ₹ 500.
- (h) A liability for $\frac{\pi}{2}$ 2,000 included in sundry creditors was not likely to arise / claim.
- (i) Debtors are all good.
- (j) Buildings are appreciated by $\sqrt[3]{4}$,500 (appreciated to $\sqrt[3]{64}$,500).
- (k) Machinery is depreciated to $\frac{1}{7}$ 26,000 (depreciated by $\frac{1}{7}$ 4,000).

Pass necessary Journal entries in the books of firm on the retirement of C. SOL.: Journal Entries

			₹	₹
Date	Particulars		Dr. ()	Cr. ()
2019	A's Capital A/c	Dr.	6,000	
April 1st	B's Capital A/c Dr.		4,000	
·	C's Capital A/c Dr.		2,000	
	To Goodwill A/c			6,000
	To P/L Suspense A/c	:		3,000
	To Advertisement Ex			3,000
	(Being adjustment made to	w/off)		
	Gen. Res./P/L A/c	Dr.	6,000	
1 st April	Workmen's Comp. Fund	Dr.	6,000	
	Investment Fluct. Fund	Dr.	3,000	
	To A's Capital A/c			7,500
	To B's Capital A/c			5,000
	To C's Capital A/c			2,500
	(Being accumulated profits t	rans.)		
	A's capital A/c Dr.		6,000	
1 st April	B's Capital A/c Dr.		4,000	
	To C's Capital A/c			10,000
	(Being C's share of g/w adjus	sted)		
	Revaluation A/c	Dr.	10,000	
	To Patents			2,000
1 st April	To Prov. for damage o	claim		2,000
	To Stock			1,000
	Outstanding Rent			1,000
	Machinery			4,000
	(Being assets & liabilities rev	valued)		
	Prepaid Salary A/c	Dr.	500	
1 st April	Creditor A/c	Dr.	2,000	
	Buildings A/c	Dr.	4,500	
	Provision for doubtful debt	Dr.	1,500	
	To Revaluation A/c			8,500
	(Being assets & liabilities rev	valued)		
	A's Capital A/c	Dr.	750	
1 st April	B's Capital A/c Dr.		500	
	C's Capital A/c Dr.		250	
	To Revaluation A/c			1,500
	(Being loss on revaluation tro	insferred)		
	C's Loan A/c	Dr.	25,250	
1 st April	To C's Capital A/c			25,250
	(Being balance transferred t	o loan A/c)		

(93) A, B and C were partners in a firm sharing profits in the ratio of 5:3:2. On 31.03.2019 their Balance Sheet was as under:

Liabilities	(₹)	Assets	(₹)
Creditors	7,000	Building	20,000
Reserves	10,000	Machinery	30,000
Capital A/cs:	70,000	Stock	10,000
A 30,000		Patents	6,000
B 25,000		Debtors	8,000

С	<u>15,000</u>		Cash	13,000
		87,000		87,000

B died on 1st October, 2019. It was agreed between his executors and the remains partners that:

- (a) Goodwill be valued at 2 years purchase of the average of the previous 5 years, which were 2005: 15,000; 2006: 13,000; 2007: 12,000; 2008: 15,000; 2009: 20,000.
- (b) Patents be valued at 8,000; Machinery at 28,000 and Buildings at 30,000.
- (c) Profit for the year 2019-20 be taken as having accrued at the same rate as the previous year.
- (d) Interest on capital be provided at 10% p.a.
- (e) A sum of 4,250 was to be paid to his executors immediately.

Prepare B's Capital Account and his Executors' Account at the time of his death.

Solution:

B's Capital Account

		· · · · · · · · · · · · · · · · · · ·	
Particulars	()	Particulars	()
To B's Executors A/c	44,250	By Balance b/d	25,000
		By Reserves (3/10 x 10,000)	3,000
		By Revaluation A/c	3,000
		By Profit & Loss Suspense A/c	3,000
		$(20,000 \times 6/12 \times 3/10)$	
		By Interest on Capital A/c (for 6 months)	1,250
		By A's Capital A/c (share of goodwill)	6,429
		By C's Capital A/c (share of goodwill)	2,571
	44,250		44,250

B's Executors Account

Particulars	()	Particulars	()
To Cash A/c	4,250	By B's Capital A/c	44,250
To B's Executors Loan A/c	40,000		
	44,250		44,250

Workings: (

(1)

Revaluation Account

Particulars		()	Particulars	()
To Machinery A/c		2,000	By Patents	2,000
To Gain transferred to:			By Building	10,000
A's Capital A/c	5,000			
B's Capital A/c	3,000			
C's Capital A/c	2,000	10,000		
		12,000		12,000

Workings: (2) Calculation of B's share of goodwill:

Firm's Goodwill = $(15,000 + 13,000 + 12,000 + 15,000 + 20,000) \times 2$ = 30,000

5

B's share of goodwill = $30,000 \times 3/10 = 9,000$, which is adjusted between A and C in their gaining ratio, i.e., 5:3. A= 5/7 of 9,000 = 6,429 and B = 2/7 of 9,000 = 2,571.

If on the above problem asked that 'Prepare B's Executors Account till the last

esttlement of his account, which to be settled in two equal yearly installments with 10% interest.

Solution:

B's Executors Loan Account

Year	Particulars	()	Year	Particulars	()
Mar 31, 20'	To Balance c/d	42,000	Oct.1, 19'	By B's Executors A/c	40,000
			Mar 31, 20'	By Interest A/c	2,000
				(for 6 months)	

		42,000			42,000
Apr 1, 20'	To Cash A/c	24,000	Apr 1, 20'	By Balance b/d	42,000
	(20,000 + 4,000)		Oct 1, 20'	By Interest A/c	2,000
Mar 31, 21'	To Balance c/d	21,000		(for 6 months)	
			Mar 31, 21'	By Interest A/c	1,000
				(for 6 months)	
		45,000			45,000
Oct 1, 21'	To Cash A/c	22,000	Apr 1, 21'	By Balance b/d	21,000
	(20,000 + 2,000)		Oct 1, 21'	By Interest A/c	1,000
		22,000		(for 6 months)	22,000

Accounting for Companies

(94) A company mustcreate Debenture Redemption Reserve at% of the amount of
outstanding debentures to be redeemed, if company is redeem its debentures out of profits.
(95) A company must crate Debenture Redemption Reserve at% of the amount of
outstanding debentures to be redeemed.
(96) A company has to make Investment for Debenture Redemption at% of the debenture
to be redeemed.
(97) Forfeited shares can be re-issued at a discount, not more than the amount of
(98) Which of the following is not correct:
(a) Shares cannot be re-issued at discount (b) Shares cannot be issued at discount
(c) Shares can be re-issued at discount (d) All of the above are not correct
(99) The Companies Act, 2013, does not permit for issue of preference shares.
(100) Which one of the following is/are not correct for the 'One Person Company (OPC)":
(a) Artificial person who is a citizen of India and resident of India can be the member of OPC
(b) Average annual turnover of 3 years does not exceed to ₹2 crores & Directors up to 15.
(c) Paid-up share capital is not more than ₹50 lakhs (d) OPC is a private company
(101) According to Table F of Schedule I of the Companies Act, 2013 what is the rate of interest
on calls-in-advance and calls-in-arrears.
(102) On the basis of Liability, as per the Companies Act. 2013, which one is/are correct:
(a) Companies Limited by Shares (b) Companies Limited by Guarantee
(c) Unlimited Liability Companies (d) All the above
(103) Which on e of the following is/are not correct with reference to "Reserve Capital":
(a) A special resolution is required for its creation (b) It is not necessary to create
(c) It is used only at the time of winding-up. (d) It is created out of capital profits
(104) As per Companies Act, 2013, only preference shares, which are redeemable within
years, can be issued.
(105) In order to develop sense of belongingness, recognizing the contributions towards the
organization, Excel Ltd decides to offer equity shares of company in the form of a choice to
their whole time directors, officers and employees, at a predetermined price below the price
of market. What type of plan Excel Ltd has implemented here?
(106) If a share of ₹ 10 each on which ₹ 8 has been paid up, is forfeited, it can be reissued at
the minimum price of ‡
(107) An issue of shares (either by Private company or Public Company) which is not a Public
Issue but an offer to a selected group of persons is called:
(108) A company issued 12,000 shares of ₹ 100 each for public subscriptions. Company received
application for 10,000 shares. State with reason whether the company can allot the shares?

(109) A company issued 3,000 shares of 100 each at 10% premium other than cash for the
purchase consideration of Machinery. The purchase consideration value will be $_{rac{\pi}{2}}$
(110) A company issued 3,000 shares of 100 each at 10% premium as well as issued bank
demand draft of 20,000 to M/s Vandana Auto Ltd for the purchase consideration. The
purchase consideration value is
(111) X Ltd purchased a running business of Y Ltd by taking over of sundry assets of ₹ 12 lakhs
and creditors of 3 lakhs. X Ltd issued 12% Debentures of ₹100 each at 10% discount for
purchase consideration of business. Issued number of debentures by X Ltd is
(112) If share of $$ 10 issued at a premium of $$ $$ 2 on which the full amount has been called and $$
7 has been (including premium) paid on it, is forfeited. The share capital account is debited
with: (a) 10 (b) ₹ 9 (c) ₹ 8 (d) ₹ 7
(113) Securities premium reserve can be utilized for issuingshares.
(114) Y Ltd forfeited 100 shares of 10 each for the non-payment of the first call of ₹ 2 per
share. The final call of 2 per share was not yet made. Share capital account will be debited
by ₹.
(115) X Ltd forfeited 600 shares (applied for 900 shares) of ₹ 10 each due to non-payment of
Allotment of 3 per share. First & Final call of ₹ 3 per share was not yet made. Share
Forfeiture Account will be credited by ₹
(116) Silver Coin Ltd issued 11% 9,000 Debentures of ₹ 100 each to Bank against bank loan as
secondary security is called, issue of debenture as
(117) Silver Coin Ltd issued 11% 9,000 debentures of ₹ 100 each to Bank against bank loan as
secondary security. Pass necessary Journal Entry for the same.
(118) Discount/loss on issue of debentures should be written off:
(a) Within 2 years of the such issue (b) In the year of such issue
(c) After the redemption of debentures (d) During the life of debentures
(119) Debentures which do not carry any specific rate of interest are known as:
(a) Naked Debentures (b) Bearer Debentures
(c) Zero Coupon Rate Debentures (d) Convertible Debentures
(120) Debentures cannot be redeemed At:
(a) Par (b) Premium (c) Discount (d) None of the above
(121) Why would an investor prefer to invest in the Debentures of a company rather than in its
shares? State any two reasons.
(122) Which shareholders have a right to receive the arrears of dividend from future profits:
(a) Redeemable Preference Shares (b) Participating Preference Shares
(c) Cumulative Preference Shares (d) Non-Cumulative Preference Shares
(123) Minimum subscription must received on issue of shares for the meeting of the following
requirements' of a company:
(a) Preliminary Expenses (b) Floatation Costs (c) Working Capital (d) All of the above
(124) Unless otherwise stated, a preference share is always deemed to be:
(a) Cumulative, Participative and Non-convertible
(b) Non-cumulative, Non-participative and Non-convertible
(c) Cumulative, Non-participative and Non-convertible
(d) Non-cumulative, Participative and Non-convertible
(125) In case of Private Placement of Shares, the lock in period is years.
(126) In case of Private Placement of Shares, company must prepare the
(127) As per SEBI Guidelines, Application money should not be less than% of the issue price
of each share.
(128) Maximum limit of Premium on shares is:
() marantant inter of a citation of all of the color

	(a) 5 %	(b) 10 %	(c) 25 %	(d) No Limit		
(129)	For which purp	oose securities	premium rese	rve account c	annot be utiliz	red:
(a)	Amortization of	of preliminary	expenses	(b) Distribution	on of dividend	
(c)	Issue of fully p	paid bonus sha	res	(c) Buy-Back (of own shares	
(130)	A company iss	sued 5,000 equ	iity shares of	₹10 each at p	ar payable as ı	under:
	On Application	ı: ₹3; On Allot	ment: ₹3 and	First & Final (Call: ₹ Balance	2.
A	oplications were	e received for	6,000 shares.	Pro-rata allo	tment was mad	le to all applicants.
Ho	w much amount					
	(a) [₹] 15	,000	(b) [₹] 18,000	(c) [₹] 12	2,000	(d) [₹] NIL
(131)	Forfeiture of	shares results	in the reduct	ion of:		
(a)	Subscribed Ca	pital (b) Aut	horized Capito	al (c) Res	serve Capital	(d) Fixed Assets
(132)	Which one of	the following i	tems is not a p	art of subscr	ibed capital?	
(a)	Equity Shares	(b)Prefere	nce Shares	(c) Forfeited	Shares (d)	Bonus Shares
(133)	At the time of	forfeiture of	shares, the sl	hare capital ad	ccount is debit	red with:
(a)	Face Value	(b) Called up v	alue (c) Paid	l up value	(d) Issued val	ue
(134)	If the Premiur	n on forfeited	shares has no	t been receive	ed, then Secur	rities Premium A/c
sho	ould be	while ma	king journal er	itry for share	forfeiture.	
						of allotment of ₹ 40
per	share and firs	st call of 🍍 2 p	er share. The	second and fi	nal call of ₹ 2	per share was not yet
ma	de. Pass necess	sary Journal e	ntry for the f	orfeiture of s	hares.	
(136)	Discount allow	ed on re-issue	of forfeited :	shares is debi	ted to	Account.
(137)	Balance of the	share forfeit	ure account at	ter re-issue o	of forfeited sl	nares is transferred
to:						
(a)	Statement of	Profit & Loss	(b) Reserve Co	ipital (c) <i>G</i> er	neral Reserve	(d) Capital Reserve
(138)	Premium on Re	demption of D	ebentures Ac	count is:		
(a)	Personal Accou	ınt (b) Nor	ninal Account	(c) Red	ıl Account	(d) None of the above
(139)	Read the follow	wing statemen	its and choose	the correct a	nswer:	
(1)	Debentures co	ın be issued as	collateral sec	urity to bank	against bank lo	oan other than the
	primary securi	•				
(2)	Bank is entitle					
	(a) Statement			•	•	ment first.
	(b) Statement					
	(c) Statement	first is corre	ct but stateme	ent second is 1	not correct	
	(d) Statement					
(140)			es of 🕈 100 ea	ch at a premii	um of 4%, rede	eemable at a premium
-	10%. In such co		~			-
						ted by ₹24,000
						ited by [₹] 40,000
						it a discount of 5%.
	bentures were			•	•	
			ff 'Loss on Iss	ue of Debent	ure Account'. A	Accounts are closed
	31 st March eve	• •				
(142)	'Debenture Re	demption Rese	erve' shall be t	ransferred to),	Account after the
	demption of all					
	Debentures is					
	Charges agains		•	loss A/c	(ii) Debt A/c	
) Charges on th		• •		(iv) Secured L	.oan
Ch	oose the corre	ct answer fror	n the following	a :		

- (a) Option i, ii and iii correct
- (b) Option i, iii and iv correct
- (c) Option ii, iii and iv correct
- (d) All options are correct
- (144) X Ltd purchased a Machinery at $^{\frac{3}{5}}$ 3,50,000 from Z Ltd. Immediately paid $^{\frac{3}{5}}$ 20,000 by cheque and for the balance, issued its 6% preference shares of $^{\frac{3}{5}}$ 100 each at 10% premium for purchase consideration.

Sol. Journal Entries

Date	Particulars	L.F.	Debit (₹)	Credit (₹)
(1)	Machinery A/c Dr.		3,50,000	
	To Bank A/c			20,000
	To Z Ltd.			3,30,000
	(Being machinery purchased)			
	Z Ltd. Dr.		3,30,000	
(2)	To 6% Preference Share Capital A/c(3,000 X 100)			3,00,000
	To Securities Premium(3,000 X 10)			
	(Being 6% preference shares issued for purchase consideration)			30,000

Working: No. of Shares to be issued = 3,30,000 / 100+10 = 3,30,000 / 110 = 3,000 shares (145) X Ltd purchased a Machinery at $^{7}4$,00,000 from Z Ltd. Immediately paid $^{7}4$ 0,000 by acceptance on bill of 3 months and for the balance, issued its 9% debentures of $^{7}4$ 100 each at 10% discount for purchase consideration.

Sol. Journal Entries

Date	Particulars		L.F.	Debit (₹)	Credit (₹)
(1)	Machinery A/c	Dr.		4,00,000	
	To Bills Payable A/c				40,000
	To Z Ltd.				3,60,000
	(Being machinery purchased)				
(2)	Z Ltd.	Dr.		3,60,000	
	Discount on Issue A/c(4,000 X 10) Dr.			40,000	
	To 9% Debentures A/c(4,000 X 100)				4,00,000
	(Being 9% debentures issuedfor purchase consider	eration)			

Working: No. of Debentures to be issued = 3,60,000/100-10 = 3,60,000/90 = 4,000 Debentures (146) .AB Ltd purchased a business of XY Ltd by taking over following assets & liabilities: Buildings ₹ 2,00,000; Machinery ₹ 1,50,000; Debtors ₹ 30,000; Stock ₹ 20,000; Creditors ₹ 20,000 and Bank Loan ₹ 30,000. AB Ltd paid ₹ 20,000 cash immediately and for the balance issued equity shares of ₹ 100 each for purchase consideration

Sol.: Journal Entries

Date	Particulars		L.F.	Debit (₹)	Credit (₹)
(1)	Building A/c	Dr.		2,00,000	
	Machinery A/c	Dr.		1,50,000	
	Debtors A/c	Dr.		30,000	
	Stock A/c	Dr.		20,000	
	To Creditors A/c				20,000
	To Bank Loan A/c				30,000
	To Cash A/c				20,000
	To XY Ltd.				3,30,000
	(Being business purchased)				
(2)	XY Ltd. Dr.			3,30,000	3,30,000
	To Share Capital A/c(3,300 X 1	.00)			

	(Being shares issued for purchase consideration)			
--	--	--	--	--

No. of shares issued = 3,30,00 / 100 = 3,300 shares

(147) AB Ltd purchased a business of XY Ltd by taking over following assets & liabilities:

Buildings 2,00,000; Machinery 1,50,000; Debtors 30,000; Stock 20,000; Creditors

₹ 20,000 and Bank Loan 30,000.

AB Ltd issued 3,200, 8% debentures of 100 each for purchase consideration.

Sol.:

Journal Entries

Date	Particulars		L.F.	Debit ()	Credit (₹)
(1)	Building A/c	Dr.		2,00,000	
	Machinery A/c	Dr.		1,50,000	
	Debtors A/c	Dr.		30,000	
	Stock A/c	Dr.		20,000	
	To Creditors A/c				20,000
	To Bank Loan A/c				30,000
	To XY Ltd. (3,200 X 100)				3,20,000
	To Capital Reserve A/c				30,000
	(Being business purchased)				
(2)	XY Ltd.	Dr.		3,20,000	
	To Debentures A/c(3,200 X 100)				3,20,000
	(Being debentures issued for purchase con	sideration)	_		

Capital Reserve = Business Value − Purchase Value; = 3,50,000 − 3,20,000 = ₹ 30,000

Business Value = All Assets - Other Liabilities = 4,00,000 - 50,000 = 3,50,000

Purchase Value = 3,200, 8% debentures of 100 each = 3,200 X 100 = 3,20,000

(148) SKY Ltd purchased the business of Golden Ltd by taking over the Sundry Assets and other Liabilities of 3,20,000 and 90,000 respectively.

They agreed for the purchase consideration value of 2,60,000. SKY Ltd drawn a Promissory Note of 20,000 in favour to Golden Ltd and for the balance issued 15%

Debentures of 100 each at 20% discount. Sol.: Journal Entries

Date	Particulars		L.F.	Debit ()	Credit (₹)
(1)	Sundry Assets A/c	Dr.		3,20,000	
	Goodwill A/c	Dr.		30,000	
	To Other Liabilities A/c				90,000
	To Golden Ltd.				2,60,000
	(Being business purchased)				
(2)	Golden Ltd.	Dr.		20,000	
	To Promissory Note A/c				20,000
	(Being Promissory Note issued)				
(3)	Golden Ltd. (2,60,000 - 20,000)	Dr.		2,40,000	
	Discount on Issue (3,000 X 20)	Dr.		60,000	
	To 15% Debentures A/c(3,000 X 100)				3,00,000
	(Being 15% debentures issued for purchase consi	deration)			

Goodwill = Purchase Value - Business Value; = 2,60,000 - 2,30,000 =

30,000

Business Value = All Assets – Other Liabilities = $3,20,000 - 90,000 = {}^{\mbox{$\stackrel{?}{$}$}} 2,30,000$ Purchase Value = Agreed value as ${}^{\mbox{$\stackrel{?}{$}$}} 2,60,000$

No. of debentures issued = 2,40,000 / 100 - 20 = 2,40,000 / 80 = 3,000 debentures.

(149) Venture Ltd registered with capital of 10,00,00,000 divided into 10,00,000 equity shares of $^{\frac{3}{2}}$ 100 each. The company issued prospectus inviting applications for 5,00,000 equity shares payable as: on application $^{\frac{3}{2}}$ 30 per share; on allotment 30 per share; on first call $^{\frac{3}{2}}$ 20 per share and balance on second & final call.

Application were received for 4,50,000 shares. Rakesh to whom 12,000 shares were allotted failed to pay first call and second & final call. These shares were forfeited. Out of the forfeited shares, 9,000 shares were re-issued to Mukesh at $^{\frac{7}{5}}$ 80 per share fully paid. Present the Share Capital into the Balance Sheet as per Schedule III of Companies Act, 2013, on the following circumstances:

- (1) Balance Sheet to be prepared just before the forfeiture of shares
- (2) Balance Sheet to be prepared Just after the forfeiture of shares
- (3) Balance Sheet to be prepared after re-issue of forfeited shares

Extract of Balance Sheet of Venture Ltd (As on......)

Particulars	Note No.	Amt. Current Year	Amt. Previous Year
I. Equity & Liabilities:			
1. Shareholders Fund:			
(a) Share Capital		4,45,20,000 (1) OR	
		4,45,20,000 (2) OR	
		4,48,80,000 (3)	
(b) Reserves & Surplus		3,60,000 (3)	

Notes to Accounts:

	Par	ticulars		Amt. in ₹
1.	Share Capital:			
	Authorized Capital	10,00,000 shares of	100 each	10,00,00,000
	Issued Capital	5,00,000 shares of	100 each	5,00,00,000
	Subscribed Capital	4,50,000 shares of	100 each	<u>4,50,00,000</u>
	Paid Up Capital:			
	(1) 4,50,000 shares of	₹100 each =	4,50,00,000	
	Less: Calls-in-arrea	rs (12,000 × 40)	4,80,000	4,45,20,000 (1)
	(2) 4,50,000 shares of	₹100 each =	4,50,00,000	
	Less: Share Forfeit	red (12,000 × 100)	12,00,000	4,38,00,000
	Add: Share Forfeit	ure Account (12,000 x	60)	7,20,000
				4,45,20,000 (2)
	(3) 4,50,000 shares of	₹100 each =	4,50,00,000	
	Less: Share forfeit	ed (3,000 x 100)	3,00,000	4,47,00,000
	Add: Share forfeit	ure $Account(3,000 \times 6)$	50)	1,80,000
				4,48,80,000 (3)
2.	Reserve & Surplus:			
	Share forfeiture A	/c	5,40,000	3,60,000 (3)
	Less: Adjusted loss	on re-issue	₹ 1,80,000	*

(150) Pass the necessary Journal entries for the issue of 12% Debentures of ₹ 100 each for the following circumstances:

- (a) 6,000 debentures issued at 10% discount to be redeemed at 15% premium after 3 years.
- (b) 4,000 debentures issued at 20% premium to be redeemed at 10% premium after 2 years.
- (c) 9,000 debentures issued at 10% discount to be redeemed after 4 years.

(d) 12,000 debentures issued to be redeemed at 15% premium after 5 years.

Sol.:

Journal entries

Date	Particulars		Dr. ([₹])	Cr. (₹)
(a) 1	Bank A/c (6,000 x 90) Dr	.	5,40,000	
	To 12% Debenture Appl. & Allot. A/c			5,40,000
	(Being application received for debentures at discount)			
	12% debenture Appl. & Allotment A/c Dr.		5,40,000	
(a) 2	Loss on Issue of Debenture A/c (60,000 + 90,000) Dr.		1,50,000	
	To Premium on Redemption A/c (6,000 x 15)			90,000
	To 12% Debenture A/c (6,000 x 100)			6,00,000
	(Being 12% debentures issued)			

Date	Particulars		Dr. (₹)	Cr. (₹)
(b) 1	Bank A/c (4,000 x 120)	Dr.	4,80,000	
	To 12% Debenture Appl. & Allot. A/c			4,80,000
	(Being application received for debentures at di	scount)		
	12% debenture Appl. & Allotment A/c	Dr.	4,80,000	
(b) 2	Loss on Issue of Debenture A/c $(4,000 \times 10)$	Dr.	40,000	
	To Premium on Redemption A/c (4,000 x 10)		40,000
	To Securities Premium A/c (4,000 x 20)			80,000
	To 12% Debenture A/c (4,000 x 100)			4,00,000
	(Being 12% debentures issued)			
(c) 1	Bank A/c (9,000 x 90)	Dr.	8,10,000	
	To 12% Debenture Appl. & Allot. A/c			8,10,000
	(Being application received for debentures at di	scount)		
	12% debenture Appl. & Allotment A/c	Dr.	8,10,000	
(c) 2	Discount on Issue of Debenture A/c $(9,000 \times 10^{-5})$	D)Dr.	90,000	
	To 12% Debenture A/c (9,000 x 100)			9,00,000
	(Being 12% debentures issued)			
	Bank A/c (12,000 × 100)	Dr.	12,00,000	
(d) 1	To 12% Debenture Appl. & Allot. A/c			12,00,000
	(Being application received for debentures at di	scount)		
	12% debenture Appl. & Allotment A/c	Dr.	12,00,000	
	Loss on Issue of Debenture A/c (12,000 \times 15)	Dr.	1,80,000	
(d) 2	To Premium on Redemption A/c			1,80,000
	To 12% Debenture A/c (15,000 x 100)			12,00,000
	(Being 12% debentures issued)			

- (151) Pass the necessary Journal entries for the redemption of 12% Debentures of ₹100 each for the following circumstances:
 - (a) 6,000 debentures were issued at 10% discount to be redeemed at 15% premium after three years.
 - (b) 4,000 debentures were issued at 20% premium to be redeemed at 10% premium after two years.
 - (c) 9,000 debentures were issued at 10% discount to be redeemed after four years.

(d) 12,000 debentures were issued to be redeemed at 15% premium after five years.

NOTE:	Debentures can be redeemed either at	PAR or	at PREM	I <u>IUM</u> .
Redemption a	t PAR:			
	(1) Debenture A/c	Dr.	XXX	
	To Debentureholders A/c			xxx
	(2) Debentureholders A/c	Dr.	xxx	
	To Bank A/c			xxx
Redemption	<u>at PREMIUM</u> :			
	(1) Debenture A/c	Dr.	xxx	
	Premium on Red. A/c	Dr.	xxx	
	To Debentureholders A/c			xxx
	(2) Debentureholders A/c	Dr.	xxx	
	To Bank A/c			xxx

Journal entries

	Journal entires	·		-
Date	Particulars		Dr. ([₹])	Cr. (₹)
(a) 1	12% Debenture A/c (6,000 x 100)	Dr.	6,00,000	
	Premium on Redemption A/c (6,000 x 15)	Dr.	90,000	
	To Debentureholders A/c			6,90,000
(a) 2	(being debentures proceeds for redemption)			
	Debentureholders A/c	Dr.	6,90,000	
	To Bank A/c			6,90,000
	(Being debentures redeemed)			
(b) 1	12% Debenture A/c (4,000 x 100)	Dr.	4,00,000	
	Premium on Redemption A/c (4,000 x 10)	Dr.	40,000	
	To Debentureholders A/c			4,40,000
(b) 2	(being debentures proceeds for redemption)			
	Debentureholders A/c	Dr.	4,40,000	
	To Bank A/c 🥽			4,40,000
	(Being debentures redeemed)			
(c) 1	12% Debenture A/c (9,000 x 100)	Dr.	9,00,000	
	To Debentureholders A/c			9,00,000
	(being debentures proceeds for redemption)			
(c) 2	Debentureholders A/c	Dr.	9,00,000	
	To Bank A/c			9,00,000
	(Being debentures redeemed)			
(d) 1	12% Debenture A/c (12,000 x 100)	Dr.	12,00,000	
	Premium on Redemption A/c (12,000 x 15)	Dr.	1,80,000	
	To Debentureholders A/c			13,80,000
(d) 2	(being debentures proceeds for redemption)			
	Debentureholders A/c Dr.		13,80,000	
	To Bank A/c			13,80,000
	(Being debentures redeemed)			

(152) Pass necessary Journal Entries for the following transactions: (1.5 \times 4 = 6) (a) 6,000 9% Preference shares of $^{\frac{\pi}{2}}$ 10 each forfeited in which only $^{\frac{\pi}{2}}$ 3 per share application money were received. Out of which, 4,000 shares were re-issued at \$\frac{7}{32,000}\$ fully paid.

- (b) 12,000 shares of $^{\frac{7}{2}}$ 10 each forfeited which were issued at 20% premium, due to non-payment of allotment of $^{\frac{7}{2}}$ 5 (including $^{\frac{7}{2}}$ 1 premium) and first & final call of $^{\frac{7}{2}}$ 2 per share. These shares were re-issued at $^{\frac{7}{2}}$ 7 per share fully paid.
- (c) 5,000 shares of $^{\frac{3}{2}}$ 100 each (applied for 6,000) forfeited due to non-payment of allotment of $^{\frac{3}{2}}$ 40 per share and first & final call of $^{\frac{3}{2}}$ 20 per share. These shares were re-issued at the sum of $^{\frac{3}{2}}$ 6,00,000.
- (d) 9,000 shares of $^{\frac{3}{2}}$ 10 each forfeited due to non-payment of allotment and first call. The final call of $^{\frac{3}{2}}$ 2 per share was not yet made. Share-holder had been paid only $^{\frac{3}{2}}$ 3 per share application money along with application for shares. Out of the forfeited shares, 6,000 shares were reissued at $^{\frac{3}{2}}$ 7 per share for $^{\frac{3}{2}}$ 8 per share.

Date	Particulars		Dr. (₹)	Cr. (₹)
Date		N:s	· ` `	Cl'. (≦)
(0) 1	9% Preference Share Capital A/c $(6,000 \times 10)$	Dr.	60,000	42.000
(a) 1	To Calls-in-arrears A/c (6,000 x 7)			42,000
	To Share Forfeiture A/c (6,000 x 3)			18,000
	(Being shares forfeited due to non-payme)		22.000	
() 0	Bank A/c	Dr.	32,000	
(a) 2	Share Forfeiture A/c	Dr.	8,000	40.000
	To 9% Preference Share Capital A/c (4,000	0 × 10)		40,000
	(Being forfeited shares re-issued)		4.000	
	Share Forfeiture A/c {(4,000x3) - 8,000}	Dr.	4,000	
(a) 3	To Capital Reserve A/c (12,000 - 8,000)	15		4,000
	(Being balance of share forfeiture A/c transfe		1.55.555	
	Share Capital A/c (12,000 \times 10)	Dr.	1,20,000	
(b) 1	Securities Premium A/c (12,000 x 1)	Dr.	12,000	
	To Calls-in-arrears (12,000 × 7)			84,000
	To Share Forfeiture A/c (12,000 x 4)			48,000
	(Being shares forfeited due to non-paymen	<u>†)</u>		
(b) 2	Bank A/c (12,000 x 7)	Dr.	84,000	
	Share Forfeiture A/c (12,000 x 3)	Dr.	36,000	
	To Share Capital A/c (12,000 x 10)			1,20,000
	(Being forfeited shares re-issued)			
(b) 3	Share Forfeiture A/c (48,000 - 36,000)	Dr.	12,000	
	To Capital Reserve A/c			12,000
	(Being balance of share forfeiture A/c transfe	rred)		
	Share Capital A/c (5,000 x 100)	Dr.	5,00,000	
(c) 1	To calls-in-arrears A/c ⁽¹⁾			2,60,000
	To Share Forfeiture A/c			2,40,000
	(Being shares forfeited due to non-payme	nt)		_,,
	Bank A/c	Dr.	6,00,000	
(c) 2	To Share Capital A/c $(5,000 \times 100)$		0,55,550	5,00,000
	To Securities Premium A/c			1,00,000
	(Being forfeited shares re-issued)			_,,,,,,,,,
	Share Forfeiture A/c	Dr.	2,40,000	
(c) 3	To Capital Reserve A/c		2,70,000	2,40,000
	(Being balance of share forfeiture A/c transfer	red)		_, .5,555
	Share Capital A/c (9,000 x 8)	Dr.	72,000	
				I.

(d) 1	To Calls-in-arrears A/c (9,000 x 5)				45,000	
(0) -	To Share Forfeiture A/c (9,000 x 3)				27,000	
	(Being shares forfeited due to non-pay)	ment)			, ,	
	Bank A/c (6,000 x 7)	Dr.		42,000		
(d) 2	Share Forfeiture A/c (6,000 x 1)	Dr.		6,000		
	To Share Capital A/c (6,000 × 8)				48,000	
	(Being forfeited shares re-issued)					
	Share Forfeiture A/c {(6,000x3) - 6,000}			12,000		
(d) 3	To Capital Reserve A/c (18,000 - 6,000)				12,000	
	(Being balance of share forfeiture A/c trans	ferred)				
Note:	Note: (1): Calls-in-arrears on allotment (2,00,000 - 40,000) + 1,00,000 = 2,60,000					

(153) AB Ltd purchased a Machinery of $^{\frac{1}{2}}$ 3,00,000 from X Ltd. Immediate paid $^{\frac{1}{2}}$ 30,000 by Bank Demand Draft and balance by issue of 12% Debenture of $^{\frac{1}{2}}$ 100 each at 10% Discount for purchase consideration. Pass necessary Journal entries in the books of AB Ltd.

Journal entries

Date	Particulars		Dr. ([₹])	Cr. (₹)
	Machinery A/c	Dr.	3,00,000	
1	To Bank A/c			30,000
	To X Ltd			2,70,000
	(Being machinery purchased)			
	X Ltd A/c	Dr.	2,70,000	
2	Discount on issue of Debenture A/c (3,000x10)	Dr.	30,000	
	To 12% Debenture A/c (3,000x100)			3,00,000
	(Being 12% debenture issued for purchase conside	ration)		
No. of	debentures issued = 2,70,000 / (100-10) = 3,000 de	bentures		

(154) AB Ltd purchased the business of XY Ltd by taking over of the following assets and liabilities:

Land & Building $^{\mbox{$\stackrel{?}{$}$}}$ 3,80,000; Machinery $^{\mbox{$\stackrel{?}{$}$}}$ 2,20,000; Furniture $^{\mbox{$\stackrel{?}{$}$}}$ 90,000; Stock $^{\mbox{$\stackrel{?}{$}$}}$ 40,000 and Creditors $^{\mbox{$\stackrel{?}{$}$}}$ 60,000.

AB Ltd paid 7 50,000 by accepting on bill of exchange and the balance by issue of 6,000 9% preference shares of 7 100 each at 20% premium for purchase consideration.

Pass necessary Journal entries in the books of AB Ltd.

Date	Particulars		Dr. (₹)	Cr. (₹)
	Land & Building A/c	Dr.	3,80,000	
1	Machinery A/c	Dr.	2,20,000	
	Furniture A/c	Dr.	90,000	
	Stock A/c	Dr.	40,000	
	Goodwill A/c (7,70,000 - 6,70,000)	Dr.	1,00,000	
	To Creditors A/c			60,000
	To Bills Payable A/c			50,000
	To X Y Ltd			7,20,000
	(Being business of XY Ltd purchased)			
	X Y Ltd A/c	Dr.	7,20,000	

2	To Securities Premium A/c (6,000 x 20)			1,20,000		
	To 9% Preference Share Capital A/c (6,000x100)			6,00,000		
	(Being 9% preference shares issued for purchase considerati	on)				
Value	Value of Purchased Business = Total Assets - Creditors; = 7,30,000 - 60,000 = ₹6,70,000					
Purch	ase consideration value = 6,000 preference shares x 100 =	₹ 6	,00,000			
	Add: Securities Premium =	₹ 1,	20,000			
	Add: Bills Payable =	₹ 5	0,000			
Purchase value $ au$,70,000			
Exces	Excess of purchase consideration value over to Business value = Purchased Goodwill					

(155) AB Ltd purchased the business of XY Ltd by taking over of the following assets and liabilities:

Land & Building ₹3,80,000; Machinery ₹2,20,000; Furniture ₹90,000; Stock ₹40,000 and Creditors ₹60,000.

AB Ltd paid ₹50,000 by accepting on bill of exchange and the balance by issue of 4,000 9% preference shares of ₹100 each at 20% premium for purchase consideration. Pass necessary Journal entries in the books of AB Ltd.

Journal entries

Date	Particulars		Dr. ([₹])	Cr. (₹)
	Land & Building A/c	Dr.	3,80,000	
1	Machinery A/c	Dr.	2,20,000	
	Furniture A/c	Dr.	90,000	
	Stock A/c	Dr.	40,000	
	To Creditors A/c			60,000
	To Bills Payable A/c			50,000
	To Capital Reserve (6,70,000 - 5,90,000)			80,000
	To X Y Ltd			5,40,000
	(Being business of XY Ltd purchased)			
	X Y Ltd A/c	Dr.	5,40,000	
2	To Securities Premium A/c (4,500 \times 20)			90,000
	To 9% Preference Share Capital A/c (4,500×100)			4,50,000
	(Being 9% preference shares issued for purchase cons	ideration)	T	

Value of Purchased Business = Total Assets - Creditors; = 7,30,000 - 60,000 = ₹6,70,000

Purchase consideration value = 4,000 preference shares $\times 100$ =

₹ 4,50,000

Add: Securities Premium

₹90,000

Add: Bills Payable

₹ 50,000

Purchase value

₹ 5,90,000

Excess of Business value over to Purchase consideration value = Capital Gain (Capital Reserve) (156) Alfa Ltd issued 3.00,000 equity shares of $^{\frac{1}{2}}$ 10 each for public subscription payable as under:

On Application : ₹3 per share : ₹4 per share On Allotment On 1st & Final Call: ₹ 3 per share

All due money was duly received for issued shares except from Mohan to whom allotted 12,000 shares failed to pay allotment and call money, from Suresh to whom allotted 9,000 shares failed to pay call money. These shares were forfeited and out of which 12,000 shares were reissued (including all forfeited shares of Suresh) at ₹ 8 per share fully paid.

Pass necessary Journal entries in the books of Alfa Ltd.

Date	Particulars		Dr. (₹)	Cr. (₹)
	Bank A/c (3,00,000 x 3)	Dr.	9,00,000	
1	To Share Application A/c			9,00,000
	(Being subscriptions received for issued shares)			
	Share Application A/c	Dr.	9,00,000	
2	To Share Capital A/c			9,00,000
	(Being share application money transferred)			
	Share Allotment A/c (3,00,000 x 4)	Dr.	12,00,000	
3	To Share Capital A/c			12,00,000
	(Being share allotment money become due)			
	Bank A/c	Dr.	11,52,000	
4	Calls-in-arrears A/c (12,000 x 4)	Dr.	48,000	
	To Share Allotment A/c			12,00,000
	(Being allotment money received with exception)			
	Share 1st & Final A/c	Dr.	3,00,000	
5	To Share Capital A/c			9,00,000
	(Being call money become due)			
	Bank A/c	Dr.	8,37,000	
6	Calls-in-arrears A/c (21,000 x 3)	Dr.	63,000	
	To Share 1 st & Final Call A/c			9,00,000
	(Being call money received with exception)			
	Share Capital A/c (21,000 x 10)	Dr.	2,10,000	
	To Calls-in-arrears A/c			1,11,000
	To Share Forfeiture A/c			9,00,000
	(Being shares forfeited due to non-payment)			

(157) Golden Eye Ltd had $^{\frac{\pi}{2}}$ 3,00,000 9% Debentures of $^{\frac{\pi}{2}}$ 100 each to be redeemed at premium of 10% on 31st March 2019. Pass necessary Journal entries for redemption of debentures if there is a balance of $^{\frac{\pi}{2}}$ 20,000 in DRR.

Date	Particulars		Dr. ([₹])	Cr. (₹)
1	Statement of P & L A/c	Dr.	55,000	
	To DRR {(25% of 3,00,000=75,000) - 20,000}			55,000
	(Being reserve created from out of profits)			
2	DRR Investment A/c	Dr.	45,000	
	To Bank A/c			45,000
	(Being investment made @ 15% of 3,00,000)			
3	Bank A/c	Dr.	45,000	
	To DRR Investment A/c			45,000
	(Being DRR Investment sold)			
	9% debentures A/c	Dr.	3,00,000	
4	Premium on redemption A/c	Dr.	30,000	
	To Debentureholders A/c			3,30,000
	(Being debentures proceeds to redeem)			
	Debentureholders A/c	Dr.	3,30,000	
5	To Bank A/c			3,30,000
	(Being debentures redeemed)			
	DRR A/c	Dr.	75,000	

6	To General Reserve A/c	75,000
	(Being DRR transferred)	

(158) IDBI (an All India Financial Company) issued 10,00,000; 9% Debentures of $^{\mbox{\baselength}}$ 50 each on 1st April 2012 redeemable on 1st April 2019. How much amount of Debentures Redemption Reserve is required before the redemption of debentures? Pass Journal entries for redemption of debentures in the books of company.

DRR is not to be created, as it being an All India Financial Company.

Journal entries

Date	Particulars		Dr. (₹)	<i>C</i> r. ([₹])
2019	9% Debentures A/c (10,00,000 x 50)	Dr.	5,00,00,000	
Ap. 1	To Debenture holders A/c			5,00,00,000
	(Being debentures proceeds to redeem)			
	Debenture holders A/c	Dr.	5,00,00,000	
	To Bank A/c			5,00,00,000
	(Being debentures redeemed)			

(159) X Ltd issued 3,00,000 equity shares of 7 100 each payable as under:

On Application $: {}^{\stackrel{}{\stackrel{}}}30$ per share On Allotment $: {}^{\stackrel{}{\stackrel{}}}40$ per share On First Call $: {}^{\stackrel{}{\stackrel{}}}20$ per share On 2nd& Final Call $: {}^{\stackrel{}{\stackrel{}}}10$ per share

Company received subscriptions for shares for 5,00,000 shares and pro-rata allotment was made as under:

<u>Group</u>	<u>Applicants</u>	<u>Allotted Shares</u>
Α	2,00,000 shares	2,00,000 shares
В	2,00,000 shares	1,00,000 shares
С	1.00.000 shares	NIL

All due money was duly received except from Rakesh (under the group B) who had applied for 20,000 shares, failed to pay allotment and first call. Raghav (to whom allotted 10,000 shares) (under the Group A) failed to pay first call money. 2^{nd} Final call was not yet made.

These shares were forfeited and 15,000 shares (including all forfeited shares of Rakesh) re-issued to Ghanshaym at ${}^{\frac{\pi}{2}}$ 70 per share for ${}^{\frac{\pi}{2}}$ 90 per shares.

Pass necessary Journal entries in the books of X Ltd.

Date	Particulars		Dr. (₹)	Cr. (₹)
	Bank A/c (5,00,000 × 30)	Dr.	1,50,00,000	
1	To Share Application A/c			1,50,00,000
	(Being application received for shares)			
	Share Application A/c	Dr.	1,50,00,000	
	To Share Capital A/c (3,00,000 x 30)			90,00,000
2	To Bank A/c (1,00,000 × 30)			30,00,000
	To Share Allotment A/c			30,00,000
	(Being appl. money transferred, refunded & adju	usted)		
	Share Allotment A/c (3,00,000 \times 40)	Dr.	1,20,00,000	
3	To Share Capital A/c			1,20,00,000
	(Being allotment become due)			
	Bank A/c	Dr.	89,00,000	

4	Calls-in-arrears A/c	Dr.	1,00,000	
	To Share Allotment A/c (1,20,00,000 – 3	30,00,000)		90,00,000
	(Being allotment money received with exc	ception)		
	Share First Call A/c	Dr.	60,00,000	
5	To Share Capital A/c (3,00,000 x 20)			60,00,000
	(Being 1 st Call become due)			
	Bank A/c	Dr.	56,00,000	
	Calls-in-arrears A/c (20,000 x 20)	Dr.	4,00,000	
6	To Share First Call A/c			60,00,000
	(Being 1st Call money received with exc	eption)		
	Share Capital A/c (20,000 x 90)	Dr.	18,00,000	
7	To Calls-in-Arrears A/c (1,00,000 + 4,00	(000,0		5,00,000
	To Share Forfeiture A/c			13,00,000
	(Being shares forfeited due to non-pay	ment)		

Share Allotment Due on 10,000 shares (10,000 x 40)

Less: Excess Application money

 $\{20,000 - (20,000*1/2)\} \times 30 i.e. 10,000 \times 30$

= 3,00,000

= 4,00,000

Therefore, calls-in-arrears on allotment [₹] 1,00,000.

Date	Particulars		Dr. (₹)	Cr. (₹)
	Bank A/c (15,000 × 70)	Dr.	10,50,000	
8	Share Forfeiture A/c		3,00,000	
	To Share Capital A/c (15,000 \times 90)			13,50,000
	(Being forfeited shares re-issued)			
	Share Forfeiture A/c	Dr.	6,50,000	
9	To Capital Reserve A/c			6,50,000
Share f	orfeiture amobiling hold of than february (20,0	000 >	(30) = 6	00,000

(160) XY Ltd issued 1,50,000 shares of $^{\frac{\pi}{2}}$ 10 each at 20% premium payable on application $^{\frac{\pi}{2}}$ 5 per share (including premium $^{\frac{\pi}{2}}$ 1 per share), on allotment $^{\frac{\pi}{2}}$ 4 per share (including $^{\frac{\pi}{2}}$ 1 premium per share) and on 1^{st} 4 final call – balance.

Application received for 2,00,000 shares and pro-rata allotment was made to all applicants. Oversubscribed money is to be adjusted towards allotment due. All due money was duly received except from Aman (applied for 10,000 shares) failed to pay allotment and call money and from Biplay, allotted to whom 2,000 shares, failed to pay call money.

Aman's shares was forfeited and re-issued at ${\buildrel {\P}}$ 8 per share as fully paid.

Pass necessary Journal entries in the books of XY Ltd.

	•			
Date	Particulars		Dr. (₹)	Cr. (₹)
	Bank A/c (2,00,000 x 5)	Dr.	10,00,000	
1	To Share Application A/c			10,00,000
	(Being application received for shares)			
	Share Application A/c	Dr.	10,00,000	

2	To Share Capital A/c (1,50,000 x 4)		6,00,000
	To Securities Premium A/c (1,50,000 \times 1)		1,50,000
	To Share Allotment A/c		2,50,000
	(Being appl. money transferred and adjusted)		
	Share Allotment A/c (1,50,000 x 4)	6,00,000	
3	To Share Capital A/c (1,50,000 x 3)		4,50,000
	To Securities Premium A/c (1,50,000 x 1)		1,50,000
	(Being allotment become due)		
	Bank A/c Dr.	3,32,500	
4	Calls-in-Arrears A/c Dr.	17,500	
	To Share Allotment A/c (6,00,000 - 2,50,000)		3,50,000
	(Being allotment money received with exception)		

Share Allotment Due on 7,500 shares (7,500 x 40)

= 30,000

Less: Excess Application money

 $\{10,000 - (10,000*15/20)\} \times 5 i.e. 2,500 \times 5$

= 12,500

Therefore, calls-in-arrears on allotment ₹17,500.

Date	Particulars		Dr. (₹)	Cr. (₹)
	Share 1^{st} Final Call A/c (1,50,000 x 3)	Dr.	4,50,000	
5	To Share Capital A/c			4,50,000
	(Being call money become due)			
	Bank A/c	Dr.	4,21,500	
6	Calls-in-Arrears $A/c \{(7,500 \times 3) + (2,000 \times 3)\}$	Dr.	28,500	
	To Share 1 st & Final Call A/c			4,50,000
	(Being call money received with exception)			
	Share Capital A/c (7,500 x 10)	Dr.	75,000	
7	Securities Premium A/c (7,500 x 1)	Dr.	7,500	
	To calls-in-Arrears (17,500 + 22,500)			40,000
	To Share Forfeiture A/c (50,000 - 7,500)			42,500
	(Being shares forfeited due to non-payment)			
	Bank A/c (7,500 x 8)	Dr.	60,000	
8	Share Forfeiture A/c		15,000	
	To Share Capital A/c $(7,500 \times 10)$			75,000
	(Being forfeited shares re-issued)			
	Share Forfeiture A/c (42,500 - 15,000)	Dr.	27,500	
9	To Capital Reserve A/c			27,500
	(Being balance transferred)			

Analysis of Financial Statements of Companies

(161) Classify the items in the Balance Sheet of a company under Major heads and Sub-heads:

- ,		,	· · · · · · · · · · · · · · · · · · ·	<u> </u>
	5.N.	Items	Major Heads	Sub Heads

1	Goodwill, Patents	Non-Current Assets	Fixed Assets
	Computer Software		
2	Share Forfeiture A/c	Share Holders Fund	Share Capital
3	Capital Reserve	Share Holders Fund	Reserve & Surplus
	Securities Premium		
4	Loose Tools	Current Assets	Inventories
5	Provision for Tax	Current Liabilities	Short Term Provision
6	Employees Provident Fund	Non-Current Liabilities	Long Term Provision
7	Calls in advance	Current Liabilities	Other Current Liabilities

(162) Limitations of Analysis of Financial Statements:

(a) Not free from bias (b) Window dressing (c) Ignore price level change (d) Qualitative aspects being ignored.

(163) Objectives of Analysis of Financial Statements:

- (a) To measure short-term and long-term solvency of firm
- (b) To measure operational efficiency and profitability of firm
- (c) To compare the intra-firm and inter-firm performance and position of firm
- (d) To identify earning capacity and trend of business firm

(164) Prepare "Comparative Income Statement" and "Common Size Statement" from the following:

 Particulars
 31-3-2018
 31-3-2019

 Revenue from operations
 10,00,000
 15,00,000

 Expenses/Employee benefit expenses
 6,00,000
 4,00,000

 Other income
 2,00,000
 3,00,000

 Income Tax
 50%
 50%

Solution: (A) Comparative Statement of Profit & loss for the year ended 31st March, 2019

	Absolut	Absolute figures		2017-18)
Particulars	31.3.2018	31.3.2019	Absolute Figures((%)
	(₹)	(₹)	₹)	
I Revenue from Operations	10,00,000	15,00,000	5,00,000	50%
II Add: Other Incomes	2,00,000	3,00,000	1,00,000	50%
Total Revenue (I+II)	12,00,000	18,00,000	6,00,000	50%
III Less: Expenses/EBE	6,00,000	4,00,000	(2,00,000)	33.33%
Profit before Tax	6,00,000	14,00,000	8,00,000	133.33%
Less: Tax (50%)	3,00,000	7,00,000	4,00,000	133.33%
IV Profit after Tax	3,00,000	7,00,000	4,00,000	133.33%

Solution: (B) Common Size Statement of Profit & loss for the year ended 31st March, 2018 & 2019

Particulars	Absolute	% with common size	Absolute	% with common size
	figures	(i.e. Revenue	figures	(i.e. Revenue
	of 2017-18	from operation)	of 2018-19	from operation)
I Revenue from Operations	10,00,000	100%	15,00,000	100%
II Add: Other Incomes	2,00,000	20%	3,00,000	20%
Total Revenue (I+II)	12,00,000	120%	18,00,000	120%
III Less: Expenses/EBE	6,00,000	50%	4,00,000	26.67%
Profit before Tax	6,00,000	60%	14,00,000	93.33%
Less: Tax (50%)	3,00,000	30%	7,00,000	46.67%
IV Profit after Tax	3,00,000	30%	7,00,000	46.67%

Solution: (C) Common Size Statement of Profit & loss for the year ended 31st March, 201**8**

Particulars	Absolute	% with common size
	figures	(i.e. Revenue
	of 2011-12	from operation)

I Revenue from Operations	10,00,000	100%
II Add: Other Incomes	2,00,000	20%
Total Revenue (I+II)	12,00,000	120%
III Less: Expenses/EBE	6,00,000	50%
Profit before Tax	6,00,000	60%
Less: Tax (50%)	3,00,000	30%
IV Profit after Tax	3,00,000	30%

Solution: (D) Common Size Statement of Profit & loss for the year ended 31st March, 201**9**

Particulars	Absolute	% with common size
	figures	(i.e. Revenue
	of 2011-12	from operation)
I Revenue from Operations	15,00,000	100%
II Add: Other Incomes	3,00,000	20%
Total Revenue (I+II)	18,00,000	120%
III Less: Expenses/EBE	4,00,000	26.67%
Profit before Tax	14,00,000	93.33%
Less: Tax (50%)	7,00,000	46.67%
IV Profit after Tax	7,00,000	46.67%

(165) Following are the balances of X Ltd for the year 2017-18 and 2018-19:

Particulars	As on 31/03/2018	31/03/2019
Machinery Account	4,80,000	5,60,000
Provision for Depreciation Account	90,000	1,30,000

A part of machinery costing $\frac{7}{9}$ 90,000 (accumulated depreciation thereon $\frac{7}{9}$ 52,000 sold at 28,000.

Present the above information into the $\it Cash$ Flow Statement as on 31.03.2019. Sol.:

- (A) Under Cash Flow from Operating Activity:
 - (a) Depreciation of $^{\frac{1}{2}}$ 92,000 is non-cash & Non-Operating charge. Therefore add to the NPBTD.
 - (b) Loss on sale of Machinery of $^{\frac{\pi}{2}}$ 10,000 is non-cash & non-operating charge. Therefore add to the NPBTD.
- (B) Under Cash Flow from Investing Activity:
 - (a) Inflow of cash Sale of machinery of ₹28,000.
 - (b) Outflow of cash Purchase of machinery of $^{\text{#}}1,70,000$.

Machinery Account

Particulars		Particulars	
Balance b/d	4,80,000	Provision for Depreciation A/c	52,000
Bank A/c *	1,70,000	Bank A/c *	28,000
(Purchase as balancing figure)		Statement of Profit & Loss A/c *	10,000
		Balance c/d	5,60,000
	6,50,000		6,50,000

Provision for Depreciation Account

Particulars		Particulars	
Machinery A/c	52,000	Balance b/d	90,000
Balance c/d	1,30,000	Dep./Statement of Profit & Loss A/c * (Depreciation made in 2018-19, as balancing figure)	92,000
	1,82,000		1,82,000

(166) Following are the balances of X Ltd for the year 2017-18 and 2018-19:

Particulars	As on 31/03/2018	31/03/2019
Machinery Account	4,80,000	5,60,000

A part of machinery costing $\frac{7}{90,000}$ (accumulated depreciation thereon $\frac{7}{52,000}$ sold at 28,000.

Depreciation made on machinery in the year 2018-19 ₹ 1,10,000.

Present the above information into the Cash Flow Statement as on 31.03.2019.

Sol.:

- (A) Under Cash Flow from Operating Activity:
 - (a) Depreciation made on machinery in the year 2018-19 $^{\frac{1}{2}}$ 1,10,000 is non-cash & non-operating charge. Therefore, add into the NPBTD.
 - (b) Loss on sale of machinery of $^{\frac{1}{2}}$ 10,000 is non-cash & non-operating charge. Therefore, add into the NPBTD.
- (B) Under Cash Flow from Investing Activity:

Machinery Account

		,	
Particulars		Particulars	
Balance b/d	4,80,000	Depreciation A/c *	1,10,000
Bank A/c *	2,80,000	Bank A/c *	28,000
(Purchase as balancing figure)		Statement of Profit & Loss A/c *	10,000
		Balance c/d	5,60,000
	6,50,000	*	7,08,000

(167) Following are the balances of X Ltd for the year 2017-18 and 2018-19:

Particulars	As on 31/03/2018	31/03/2019
Provision for Tax	25,000	35,000

Show the above information into the Cash Flow Statement as on 31.03.2019.

Sol.:

- (A) Under Cash Flow from Operating Activity:
 - (a) Provided tax in the year 2017-18 (previous year) $^{\frac{1}{2}}$ 25,000 paid in the year 2018-19. Therefore, it is a outflow of cash. It will be less at the last calculation of cash flow from operating activity.
 - (b) Provided tax in the year 2018-19 (current year) ₹ 35,000 was charged in the statement of profit & loss account in 2018-19 BUT payment will be made in 2019-20. Therefore, there was NO FLOW of cash (Non-Cash Charged) and hence it will be add to the difference of 'Reserve & Surplus' to make the NPBTD.

(168) Following are the balances of X Ltd for the year 2017-18 and 2018-19:

Particulars	As on 31/03/2018	31/03/2019
Provision for Tax	25,000	35,000

Provision for Tax made in the year 2018-19 † 42,000.

Show the above information into the Cash Flow Statement as on 31.03.2019.

Sol.:

(In the above case, we need to prepare 'Provision for Tax Account to find the actual amount of tax paid in the year 2018-19.)

Provision for Tax Account

Particulars		Particulars	
Bank A/c	32,000	Balance b/d	25,000
(Tax paid in 2018-19,		Statement of Profit & Loss A/c	42,000
as balancing figure)			
Balance c/d	35,000		

67,000		67,000
--------	--	--------

- (A) Under Cash Flow from Operating Activity:
 - (a) Tax paid in the year 2018-19 $^{\frac{3}{2}}$ 32,000. Therefore, it is an outflow of cash. It will be less at the last calculation of cash flow from operating activity.
 - (b) Provided tax in the year 2018-19 (current year) ₹42,000 was charged in the statement of profit & loss account in 2018-19 BUT payment will be made in 2019-20. Therefore, there was NO FLOW of cash (Non-Cash Charged) and hence it will be added to the difference of 'Reserve & Surplus' to make the NPBTD.

(169) Following are the balances of X Ltd for the year 2017-18 and 2018-19:

Particulars	As on 31/03/2018	31/03/2019
Proposed Dividend	18,000	25,000

Show the above information into the Cash Flow Statement as on 31.03.2019.

Sol.: (Proposed dividend of previous year $(2017-18)^{\frac{\pi}{2}}18,000$ taken into account and paid in cash in the year 2018-19 and proposed dividend of current year $(2018-19)^{\frac{\pi}{2}}25,000$; neither taken into account nor paid in cash in the year 2018-19. Therefore, only proposed dividend of previous year of $^{\frac{\pi}{2}}18,000$ will be used as outflow of cash under financing activity and same amount i.e. $^{\frac{\pi}{2}}18,000$ will be used to adjust with the difference figures of reserve & surplus for making NPBTD, under cash flow from operating activity)

- (A) Under Operating Activity:
 - * To make NPBTD, † 18,000 will be added to the difference of reserve & surplus amount.
- (B) Under Financing Activity:
 - * Outflow of cash for ₹18,000.

(170) Following are the balances of X Ltd for the year 2017-18 and 2018-19:

Particulars	As on 31/03/2018	31/03/2019
Proposed Dividend	18,000	25,000

Interim dividend paid in the year 2018-19 ₹22,000.

Show the above information into the Cash Flow Statement as on 31.03.2019.

Sol.: (Proposed dividend of previous year $(2017-18)^{\frac{\pi}{2}}$ 18,000 taken into account and paid in cash in the year 2018-19 and proposed dividend of current year $(2018-19)^{\frac{\pi}{2}}$ 25,000; neither taken into account nor paid in cash in the year 2018-19. Therefore, only proposed dividend of previous year of $^{\frac{\pi}{2}}$ 18,000 will be used as outflow of cash under financing activity and same amount i.e. $^{\frac{\pi}{2}}$ 18,000 will be used to adjust with the difference figures of reserve & surplus for making NPBTD, under cash flow from operating activity.

Similarly, Interim dividend paid in the year 2018-19 is taken into account as well as paid in cash in the year 2018-19)

- (A) Under Operating Activity:
 - * To make NPBTD, $^{\frac{\pi}{4}}$ 40,000 (i.e. 18,000 + 22,000) will be added to the difference of reserve & surplus amount.
- (B) Under Financing Activity:
 - * Outflow of cash for ₹40,000 (i.e. 18,000 + 22,000).

(171) From the following Balance Sheet of Golden Eye Ltd and additional information as on 31^{st} March, 2019, prepare Cash Flow Statement:

Particulars	Note No.	31 st March 2019	31 st March 2018
I. EQUITY & LIABILITIES			
1. Shareholders' Funds			
a. Share Capital		4,50,000	3,50,000
b. Reserve & Surplus	1	1,25,000	50,000
2. Non-Current Liabilities			

a. Long-Term Borrowings	2	2,25,000	1,75,000
3. Current Liabilities			
a. Short-Term Borrowings	3	75,000	37,500
b. Short-Term Provision	4	1,00,000	62,500
Total		9,75,000	6,75,000
II. ASSETS			
1. Non-Current Assets			
a. Fixed Assets			
i. Tangible	5	7,32,000	4,52,000
ii. Intangible (Goodwill)		50,000	75,000
b. Non-Current Investments		75,000	50,000
2. Current Assets			
a. Trade Receivables		20,000	35,000
b. Inventories (stock-in-trade)		40,000	20,000
c. Trade Investment		21,000	16,000
d. Cash & Cash Equivalents		36,500	26,500
Total		9,75,000	6,75,000

Notes to Accounts:

	1000 41110		
Note No.	Particulars	31.03.2019	31.03.2018
1	Reserve & Surplus: Statement of Profit & Loss	1,25,000	50,000
2	Long-Term Borrowings		
	12% Debentures	2,25,000	1,75,000
3	Short-Term Borrowings		_
	Bank Overdraft	50,000	7,500
	Creditors	25,000	30,000
4	Short-Term Provision		
	Provision for Tax	1,00,000	62,500
5	Tangible Assets		
	Machinery	8,37,500	5,22,500
	Accumulated Depreciation	1,05,000	<u>70,000</u>
		7,32,000	4,52,500

Additional Information:

- 1. 12% Debentures were issued on 30^{th} June, 2019.
- 2. Dividend paid in the year 2018-19 ₹ 25,000.
- 3. A part of machinery costing $\frac{\pi}{40,000}$ (accumulated depreciation $\frac{\pi}{20,000}$) was sold at a loss of $\frac{\pi}{5,000}$.

CASH FLOW STATEMENT

Particulars		Note No.		
(A) Cash Flow from Operating	Activities:			2,38,000
Net profit before tax & divid	lend (NPBTD)		2,00,000	
Add: Non-Cash/Non-Operating i	tems			
Depreciation	55,000			
Loss on sale of asset	5,000			
Amortization of goodwill	25,000			
Interest on 12% Debentures	25,500		<u>1,10,500</u>	
Cash flow before changes in worl	king capital		3,10,500	
Changes in working capital:				

Decrease in Trade Receivable	15,000		
Decrease in Creditors	(5,000)		
Increase in Inventories	(20,000)	(10,000)	
		3,00,500	
Less: Tax paid		<u>(62,500)</u>	
(B) Cash Flow from Investing Ac	ctivities:		(3,65,000)
Sale of Machinery		15,000	
Purchase of Machinery		(3,55,000)	
Investment made		(25,000)	
(C) Cash Flow from Financing Ac	ctivities:		1,42,000
Issue of share capital		1,00,000	
Dividend paid		(25,000)	
12% Debentures issued		50,000	
Interest paid (5,250 + 20,	,250)	(25,500)	
Bank overdraft		<u>42,500</u>	
Cash flow in the business in year	2018-19		15,000
Add: Opening Cash & Cash Equiva	lents (26,500 + 16,000)		42,500
Closing Cash & Cash Equival	ents (36,500, + 21,000)		57,500

Machinery Account

Particulars		Particulars	
Balance b/d	5,22,500	Provision for Depreciation A/c	20,000
Bank A/c *	3,55,000	Bank A/c *	15,000
(Purchase as balancing figure)		Statement of Profit & Loss A/c *	5,000
		Balance c/d	8,37,500
	8,77,500		8,77,500

Provision for Depreciation Account

Particulars		Particulars	
Machinery A/c	20,000	Balance b/d	70,000
Balance c/d	1,05,000	Dep./Statement of Profit & Loss A/c * (Depreciation made in 2018-19,	55,000
		as balancing figure)	
	1,25,000		1,82,000

<u>NPBTD</u> 2,00,000

Reserve & Surplus 75,000 Provision for Tax 1,00,000 Dividend 25,000

(172) From the following Balance Sheet of Golden Eye Ltd and additional information as on 31^{st} March, 2019, prepare Cash Flow Statement:

Particulars	Note No.	31 st March 2019	31 st March 2018
I. EQUITY & LIABILITIES			
1. Shareholders' Funds			
a. Share Capital		4,50,000	3,00,000
b. Reserve & Surplus	1	1,25,000	(25,000)
2. Non-Current Liabilities			
Long-Term Borrowings	2	2,25,000	1,75,000
3. Current Liabilities			

a. Short-Term Borrowings	3	75,000	37,500
b. Short-Term Provision	4	1,00,000	62,500
Total		9,75,000	5,50,000
II. ASSETS			
1. Non-Current Assets			
a. Fixed Assets			
i. Tangible	5	7,32,500	3,27,500
ii. Intangible (Goodwill)		50,000	75,000
b. Non-Current Investments		75,000	50,000
2. Current Assets			
a. Trade Receivables		20,000	35,000
b. Inventories (stock-in-trade)		40,000	20,000
c. Marketable Securities		21,000	16,000
d. Cash & Cash Equivalents		36,500	26,500
Total		9,75,000	5,50,000

Notes to Accounts:

Note No.	Particulars	31.03.2019	31.03.2018
1	Reserve & Surplus: Statement of Profit & Loss	1,25,000	(25,000)
2	Long-Term Borrowings: 12% Debentures	2,25,000	1,75,000
3	Short-Term Borrowings		
	Bank Overdraft	50,000	7,500
	Creditors	25,000	30,000
4	Short-Term Provision: Provision for Tax	1,00,000	62,500
5	Tangible Assets: Machinery	7,32,500	3,27,500

Additional Information:

- 2. A part of machinery costing $\sqrt[3]{40,000}$ (accumulated depreciation $\sqrt[3]{20,000}$) was sold at a loss of $\sqrt[3]{5,000}$.
- 3. Depreciation made on Machinery in the year 2018-19 $\ ^{\frac{1}{2}}$ 35,000.

Sol.:

CASH FLOW STATEMENT

Particulars		Note No.		
(D) Cash Flow from Operating Ac	(D) Cash Flow from Operating Activities:			2,88,500
Net profit before tax & divide	end (NPBTD)		2,75,000	
Add: Non-Cash/Non-Operating ite	ems			
Depreciation	35,000			
Loss on sale of asset	5,000			
Amortization of goodwill	25,000			
Interest on 12% Debentures	21,000		86,000	
Cash flow before changes in worki	ng capital		3,61,000	
Changes in working capital:	-			
Decrease in Trade Receivable	15,000			
Decrease in Creditors	(5,000)			
Increase in Inventories	(20,000)		(10,000)	
			3,51,000	
Less: Tax paid			(62,500)	
·				

(E) Cash Flow from Investing Activities:		(4,70,000)
Sale of Machinery	15,0	00
Purchase of Machinery	(4,60,00	00)
Investment made	(25,00	<u>)O)</u>
(F) Cash Flow from Financing Activities:		1,96,500
Issue of share capital	1,50,0	00
Dividend paid	(25,00	00)
12% Debentures issued	50,0	00
Interest paid	(21,00	00)
Bank overdraft	42,5	<u>00</u>
Cash flow in the business in year 2018-19		15,000
Add: Opening Cash & Cash Equivalents (26,500 + 16,000)		42,500
Closing Cash & Cash Equivalents (36,500, + 21,000)		57,500

NPBTD 2,75,000

Reserve & Surplus 1,50,000 Provision for Tax 1,00,000 Dividend 25,000

Machinery Account

Particulars		Particulars	
Balance b/d	3,27,500	Depreciation A/c	35,000
Bank A/c *	4,60,000	Bank A/c *	15,000
(Purchase as balancing figure)		Statement of Profit & Loss A/c *	5,000
		Balance c/d	7,32,500
	7,87,500		7,87,500

(173) Objective Based Questions (Ratio Analysis)

(01) The Current Ratio of a company is 3:1. State with reason whether the payment of Rs 20,000 to the creditors will increase, decrease or not change the ratio. (AI 2009 C)

Ans.: The Current Ratio will increase due to payment to the creditors, current assets and current liabilities will be reduced by the same amount.

(02) Quick Ratio of a company is 3:1. State with reason whether the ratio will improve, decline or not change on payment of dividend by the company. (2008 D)

Ans.: Quick Ratio will improve as both liquid assets and current liabilities will decrease by the same amount.

(03) The Stock Turnover Ratio of a company is 3 times. State, giving reason, whether the ratio improves, decline or does not change because of increase in the value of closing stock by Rs 5,000. (AI 2008)

Ans.: Stock Turnover Ratio will decline because the amount of average stock will increase but cost of goods sold will remain same.

(04) The GP Ratio of a company is 50%. State with reason whether the decrease in rent received by Rs 15,000 will increase, decrease or not change the ratio. (D 2009C)

Ans.: Decrease in rent received will not change the gross profit ratio because rent received neither effects the gross profit or the net sales.

- (05) The Quick ratio of a company is 1:1. State giving reasons, (for any four) which of the following would improve, reduce or not change the ratio? (AI 2011 C)
 - (a) Purchase of machinery for cash
 - (b) Purchase of goods on credit
 - (c) Sale of furniture at cost
 - (d) Sale of goods at a profit
 - (e) Redemption of debentures at a premium

- (a) Decrease. As Quick assets decreased but current liabilities remain unchanged.
- (b) Decrease. As current liabilities increased but quick assets remain unchanged.
- (c) Improve. As Quick assets increased but current liabilities remain unchanged.
- (d) Improve. As Quick assets increased but current liabilities remain unchanged.
- (e) Decrease. As Quick assets decreased but current liabilities remain unchanged.
- (06) The Debt-Equity ratio of a company is 0.8:1. State whether the long term loan obtained by the company will improve, decline or not change the ratio. (2008)

Ans.: Debt-Equity Ratio will improve as the long-term debts will increase but total shareholders'

(07) What will be the operating profit ratio, if operating ratio is 83.64%? (2009)

Ans.: Operating Profit Ratio = 100 - 83.64 = 16.36 %

3-4 Marks Ouestion (Ratio Analysis)

(08) OM Ltd has Current Ratio is 3.5:1 and Quick Ratio is 2:1. If the excess of Current Assets over the Quick Assets as represented by Stock is ₹ 1,50,000.

Calculate Current Assets and Current Liabilities. (2012)

Ans.:

```
Let's Current Liabilities be X, therefore, Current Assets = 3.5X and Quick Assets = 2X
Stock = Current Assets – Quick Assets;
1,50,000 = 3.5X - 2X; 1.5X = 1,50,000; X = 1,00,000
```

(09) (a) A business has a Current ratio of 3:1 and a Quick ratio of 1.2:1. If the Working capital is ₹ 1,80,000, calculate the total current liabilities value of stock. (2 marks 2010)

Ans.:

```
Let's Current Liabilities be X, therefore, Current Assets = 3X and Quick Assets = 1.2X
1,80,000 = 3X - X; \quad 2X = 1,80,000; \quad X = 90,000 \text{ i.e. current liabilities}
\text{Current Assets} = 2,70,000; \quad \text{Quick Assets} = 1,08,000; \quad \text{Stock} = \text{Current Asset} - \text{Quick}
\text{Stock} = 2,70,000 - 1,08,000 = 1,62,000.
```

(b) From the given information calculate the Stock turnover ratio: Sales ₹ 2,00,000; GP 25% on cost; Stock at the beginning is 1/3 of the stock at the end which was 30% of Sales. (2 marks 2010)

Ans.:

```
Cost = X; Gross Profit = 25% on X; GP = X/4

Sales = Cost + Gross Profit; 2,00,000 = X + X/4; 2,00,000 = 5X/4; 5X = 8,00,000; X(Cost)

=1,60,000.

Stock at the end = 30% on Sales; = 60,000; Opening Stock = 1/3 of 60,000 = 20,000

Average Stock = (60,000 + 20,000) / 2 = 40,000
```

- (10) Assuming that the debt-Equity ratio is 2. State giving reasons whether this ratio would increase, decrease or remain unchanged in the following cases (Any four): (2010)
 - (a) Purchase of fixed asset on a credit of 2 months.
 - (b) Purchase of fixed asset on a long-term deferred payment basis.
 - (c) Issue of new shares for cash.
 - (d) Issue of bonus shares.
 - (e) Sale of fixed asset at a loss of ₹ 3,000. Solution:
 - (a) No change. Neither equity nor the debts are affected.
 - (b) Increase. As the debts are increasing.
 - (c) Decrease. As Shareholders' Funds will increase.
 - (d) No change. Neither the total long-term debt nor the total shareholders' funds are affected.
 - (e) No change. Shareholders' funds are decreased by loss but LT debts remain unchanged.

(11) (a) Net profit after interest but before Tax ₹ 1,40,000. 15% long term debts ₹ 4,00,000, Share holders funds ₹2,40,000; Tax Rate 50%. Calculate Return on Capital Employed (Investment) (2009)

ROI = Net Profits before Interest, Tax & Dividend / Capital Employed X 100

NPBI&T = 1,40,000 + 60,000 = 2,00,000

Capital Employed = Shareholders' funds + Lon-term Debts + Reserve & Surplus

= 2,40,000 + 4,00,000 + (1,40,000 - 70,000 Tax) = 6,40,000 + 70,000 = 7,10,000.

(b) Opening Stock ₹60,000; Closing Stock ₹ 1,00,000; Stock turn over ratio 8 times; Selling price 25% above cost. Calculate the Gross Profit Ratio. (2009) {2+2=4 marks}

Gross Profit Ratio = Gross Profit / Net Sales X 100; Gross Profit = Sales – Cost of goods sold Stock Turnover Ratio = Cost of goods sold / Average Stock

Average Stock = Opening stock + Closing stock / 2; = 60,000 + 1,00,000 / 2 = <math>80,000

8 = Cost of goods sold / 80,000; Cost of goods sold = 6,40,000

Selling price 25% above cost, therefore Gross profit = 25% of 6.40.000 = 1.60.000

(196)

Objective Based Questions (Cash Flow Statement)

(01) H What is meant by a Cash Flow Statement? (D 2005, AI 2005, 2006C)

Ans.: Cash flow statement shows inflows (receipts) and outflows (payments) of cash and cash equivalents of an enterprise during a specified period of time.

(02) State any two objectives of preparing a cash flow statement. (2007D)

Ans.: (a) it provides information about cash flow from operating, investing and financing activities during a specific period.

(03) X Ltd. is a Mutual Fund Company. The company invested ₹50 lakhs in the shares of Y Ltd. State with reason whether the dividend received on the shares of Y Ltd. will be cash flow from operating activities or from investing activities. (2007 F)

Ans.: A Mutual fund company is a financial enterprise and investing of funds into profitable securities is an operation activity, therefore X Ltd investment of $\frac{\pi}{2}$ 50 lakhs in the shares of Y Ltd is an Operating activity for preparing the cash flow statement.

(04) Fine Garments Ltd. is engaged in the export of readymade garments. The company purchased a machinery of ₹10,00,000 for the use in packaging of such garments. State giving reason whether the cash flow due to the purchase of machinery will be cash flow from operating activities, investing activities or financial activities? (2007D)

Ans.: Fine Garments Ltd is a manufacturing company therefore to produce the garments; purchase of machinery is an investment activity for preparing the cash flow statement.

(05) State whether depreciation charged by a company will result in inflow, outflow or not flow of cash. (2008)

Ans.: Depreciation charged by a company is non-cash charge therefore, no flow of cash.

(06) Interest paid by an investment company will come under which activity while preparing cash flow statement? (2008)

Ans.: Interest paid by an investment company will come under Operating activity while preparing cash flow statement.

(07) State why non-cash transactions are ignored while preparing a cash flow statement? (2009)

Ans.: No any flow of cash from non-cash transaction, therefore, it must be ignored while preparing a cash flow statement.

(08) When Dividend is received considered as operating activity? (2009)

Ans.: Dividend received considered as Operating activity when it has been received by Financial company.

(09) Under which type of activity will you classify 'Proceeds from sale of Buildings' while preparing cash flow statement? (2010)

Ans.: Proceeds from sale of Buildings will be classified under Investing activity while preparing cash flow statement.

(10) Redemption of debentures would results in inflow, outflow or no flow of cash? Give your answerwith reason. (2010)

Ans.: Redemption of debentures would results in Outflow of cash due to repayment of debentures in cash to its holders.

- (11) Why is Cash Flow Statement prepared? (D2010C) * Follow the answer for objectives of CFS.
- (12) Give the meaning of Cash Flow. (2011) * Follow the answer as stated above.
- (13) State the reason whether deposit of cash into bank will result in inflow, outflow or no flow of cash.(2011)

Ans.: Deposit of cash into bank will no flow of cash because it's part of 'cash & cash equivalents'.

(14) Define the Cash Equivalents & Cash as per Accounting Standard – 3. (AI 2008C, AI 2011 C)

Ans.: As per Accounting Standard – 3, Cash Equivalents & Cash shall be classified as:

(15) Distinct between Operating and Investing / Financing Activities. (F 2010, AI 2010 C)

Operating Activity is the principal revenue producing activity of the enterprise, Financing Activity is that activity which changes the size & composition of owner's capital & borrowing of the enterprise whereas Investing Activity include the acquisition and disposal of long-term assets.

(16) Under which type of activity will you classify 'sale of shares of another company' while preparing the cash flow statement? (F 2010)

Ans.: 'Sale of shares of another company' will be classified under Investing Activity while preparing

(17) State whether cash withdrawn from bank for office use will use result in inflow, outflow or no flowof cash. (F 2011)

Ans.: Cash withdrawn from bank for office use result in no flow of cash.

- (18) State the purpose of preparing a Cash Flow Statement. (2012). As the ans. of the question of 02.
- (19) Bank overdraft will be classified under which activities, while preparing cash flow statement?

Ans.: Financing Activities

(20) While preparing a cash flow statement what type of activity is, 'Payment of cash to acquiredebentures by an Investment Company'? (2012)

Ans.: Payment of cash to acquire debentures by an Investing Company will be classified under Operating Activity while preparing cash flow statements.